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Group All Questions : Yes
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Sub-Section Number : 1
Sub-Section Id : 210529309
Question Shuffling Allowed : Yes

Question Id : 2105298093 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)

Question Label : Comprehension

Based on the data in the table, answer the questions that follow

The following table embodies the details about the students of the different departments' A, B
and C in a University for participating in the blood donation camp.

Participation in Blood Donation Camp - Data

Percentage Percentage of blood | Number of blood

Department of Girls donatingGirls* donating Boys*
A 25% 40% 48
B 40% 50% £
30% 70% 39

* - out of total blood donors

Sub questions

Question Number : 1 Question Id : 2105298094 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In case all the girls in the department 'A’ donated blood, then the number of boys in the
department ‘A’ who did not participate in the blood donation camp is

1.32
2.48
3. 60
4.56

Options :

21052931801. 1
21052931802. 2
21052931803. 3

21052931804. 4

Question Number : 2 Question Id : 2105298095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The number of students who donated blood in the department 'C' is
1. 29

91

130

169

da

Options :

21052931805. 1
21052931806. 2
21052931807. 3

21052931808. 4

Question Number : 3 Question Id : 2105298096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The number of girls in the department 'A’ who donated blood is

1. 32
2.130
3. 55
4.48

Options :

210529318009. 1
21052931810. 2
21052931811.3
21052931812. 4

Question Number : 4 Question Id : 2105298097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If 45 boys from the department 'B' did not donate blood, then the total number of students in

the department 'B' is

1.120
2. 150
3. 80

4. 200

Options :

21052931813. 1
21052931814. 2
21052931815. 3

21052931816. 4

Question Number : 5 Question Id : 2105298098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the ratio of the number of blood donors in the department ‘A’ compared to the
number of blood donors in 'B"?

B
2. 25
3.9:16
4 815

Options :

21052931817. 1
21052931818. 2
21052931819. 3
21052931820. 4

Question Id : 2105298093 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (1 to 5)
Question Label : Comprehension
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A 25% 40% 48

B 40% 50% 75

C 30% 70% 39
* - o Jadadiel § 9

Sub questions

Question Number : 1 Question Id : 2105298094 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.32
2.48
3. 60
4.56

Options :

21052931801. 1
21052931802. 2
21052931803. 3

21052931804. 4

Question Number : 2 Question Id : 2105298095 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 39
91
130
169
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Options :

21052931805. 1
21052931806. 2
21052931807. 3

21052931808. 4

Question Number : 3 Question Id : 2105298096 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 32
2.130
3. 55
4.48

Options :

210529318009. 1
21052931810. 2
21052931811.3

21052931812. 4

Question Number : 4 Question Id : 2105298097 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.120
2. 150
3. 80

4. 200

Options :

21052931813. 1
21052931814. 2
21052931815. 3
21052931816.4

Question Number : 5 Question Id : 2105298098 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931817. 1
21052931818. 2
21052931819. 3

21052931820. 4

Sub-Section Number : 2
Sub-Section Id : 210529310
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 2105298099 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

If your students are identified as 'Unable but willing' in terms of their performance readiness
level, which of the following methods of teaching will be considered appropriate to deal with

them?

1. Giving challenging tasks during teaching

2. Providing scope for sharing responsibility and recognition

3. Mentoring and guiding with close supervision

4. Small step presentations with error free tasks and frequent reinforcement

Options :

21052931821. 1
21052931822. 2
21052931823.3

21052931824. 4

Question Number : 6 Question Id : 2105298099 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931821.1
21052931822. 2
21052931823. 3

21052931824. 4

Question Number : 7 Question Id : 2105298100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dentify from the following list of competencies of teaching, those which are related to
personality and attitude

A. Managing

B. Monitoring

C. Locus of control

D. Planning

E. Self-efficacy

Choose the correct answer from the options given below:

1. Aand B only
2. B and C only
3.Cand D only
4. Cand E only

Options :



21052931825. 1
21052931826. 2
21052931827. 3

21052931828. 4

Question Number : 7 Question Id : 2105298100 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931825. 1
21052931826. 2
21052931827.3
21052931828. 4

Question Number : 8 Question Id : 2105298101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Match List | with List Il

List1 List II

Assessment and Test @

{ . Description

interpretation methods

A. Formative assessment |. The test data help us to determine a student’s rank

) |Il. The test data tell us about a student's level of
B. Summative assessment .
proficiency

) lIl. The intention in the evaluation is to identify scope for
C. Norm-referenced testing )
improvement

. , . V. Evaluation is in the form of judgment to be used for at
D. Criterion-referencing testing

least immediate future

Choose the correct answer from the options given below:

TA-LB-ILC-IILD- IV
2A-IILB-IV,C-1,D-I
3A-IVB-IILC-ILD-I
4 A-1,B-1,C-IV,D-1ll

Options :

21052931829. 1
21052931830. 2
21052931831. 3

21052931832. 4

Question Number : 8 Question Id : 2105298101 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T.A-1LB-1ILC-1ILD-IV
ZA-ILB-IV,C-,D-1
3A-IV,B-NIL,C-I,D-1
4 A-1LB-1,C-1V,D-1ll

Options:

21052931829. 1
21052931830. 2
21052931831.3

21052931832. 4

Question Number : 9 Question Id : 2105298102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: ICT based 'teaching support system' has the potential to optimize learning

outcomes

Statement |I: Recent research have reported that factors relating to social competence
contribute more to learning than mere cognitive intelligence does

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options:

21052931833. 1
21052931834. 2
21052931835. 3

21052931836. 4

Question Number : 9 Question Id : 2105298102 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931833. 1



21052931834. 2
21052931835. 3

21052931836. 4

Question Number : 10 Question Id : 2105298103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A university teacher proposes a research project on ‘why parents are apathetic to the
university programmes’. Which of the following research methods will be most appropriate for

the project?

1. Experimental method

2. Historical method

3. Participant-observation method
4. Ex post facto method

Options :

21052931837. 1
21052931838. 2
21052931839. 3

21052931840. 4

Question Number : 10 Question Id : 2105298103 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052931837. 1
21052931838. 2
21052931839. 3
21052931840. 4

Question Number : 11 Question Id : 2105298104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which level of teaching there is optimum scope for cognitive interchange requiring analysis

and synthesis?

1. Memory level teaching

2. Understanding level teaching

3. Reflective level teaching

4. Autonomous development level teaching

Options :

21052931841. 1
21052931842. 2
21052931843.3

21052931844. 4

Question Number : 11 Question Id : 2105298104 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931841.1



21052931842. 2
21052931843. 3

21052931844. 4

Question Number : 12 Question Id : 2105298105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: Reliability is a necessary but insufficient condition for validity aspect of a research
tool

Statement Il: Validity is threatened when a test measures only the construct it is designed to
measure in a research

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :

21052931845. 1
21052931846. 2
21052931847.3

21052931848. 4

Question Number : 12 Question Id : 2105298105 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931845. 1
21052931846. 2
21052931847.3

21052931848. 4

Question Number : 13 Question Id : 2105298106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the features of scientific method from the following list
A. Clearly defined variables and procedures

B. Empirically verifiable hypotheses

C. Little or no scope for self correction

D. Linguistic justification of conclusions

E. Ability to rule out rival hypotheses

Choose the correct answer from the options given below:

1. A B and E only
2. B, Cand D anly
3.C, D and E only
4. B, D and E only

Options :



21052931849. 1
21052931850. 2
21052931851. 3

21052931852. 4

Question Number : 13 Question Id : 2105298106 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931849. 1
21052931850. 2
21052931851. 3

21052931852. 4

Question Number : 14 Question Id : 2105298107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the point of view of research ethics which of the following is least vulnerable in research?

1. Problem-formulation and identifying the variables involved
2. Data analysis and interpretation

3. Reporting of research result and their implications

4. Citing a theory in support of one’s thesis

Options :

21052931853. 1
21052931854. 2
21052931855. 3

21052931856. 4

Question Number : 14 Question Id : 2105298107 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931853. 1
21052931854. 2
21052931855. 3
21052931856. 4

Question Number : 15 Question Id : 2105298108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following sampling methods in research are non-probability based?
A. Cluster sampling method

B. Dimensional sampling method

C. Random sampling method

D. judgement sampling method

E. Snowball sampling method

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3. B, D and E only
4. C, D and E only

Options :

21052931857. 1
21052931858. 2
21052931859. 3

21052931860. 4

Question Number : 15 Question Id : 2105298108 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931857. 1
21052931858. 2
21052931859. 3

21052931860. 4

Question Number : 16 Question Id : 2105298109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Communication stimuli used to convey the message are known as

1. Process
2. Power
3. Channel
4. Codes

Options :

21052931861. 1
21052931862. 2
21052931863. 3
21052931864 4



Question Number : 16 Question Id : 2105298109 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052931861. 1

21052931862. 2

21052931863. 3

21052931864. 4

Question Number : 17 Question Id : 2105298110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Communication activities of learners fall into domains consisting of
A. Perception

B. Groupism

C. Inter-personal skills

D. Regressive behavior

E. Inter-perscnal relations

Choose the correct answer from the options given below:

1. A, B and C only
2. A, Cand E only
3. A, Cand D only
4. A Dand E only

Options :



21052931865. 1
21052931866. 2
21052931867. 3

21052931868. 4

Question Number : 17 Question Id : 2105298110 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931865. 1
21052931866. 2
21052931867. 3

21052931868. 4

Question Number : 18 Question Id : 2105298111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: New media enhance the opportunities to expand the learning environment

unheard of before
Reason R: Learners can design their own |earning process

In light of the above statements, choose the most appropriate answer from the options

given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052931869. 1
21052931870. 2
21052931871.3

21052931872. 4

Question Number : 18 Question Id : 2105298111 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931869. 1



21052931870. 2
21052931871. 3

21052931872. 4

Question Number : 19 Question Id : 2105298112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sequence of elements in linear model of communication is
A. Message

B. Decoder

C. Encoder

D. Medium

E. Noise

Choose the correct answer from the options given below

1.A CBED
2B D CAE
3.CADEB
4D ECAB

Options :

21052931873. 1
21052931874. 2
21052931875. 3

21052931876. 4

Question Number : 19 Question Id : 2105298112 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



YU & R UfaHH & geh! Bl HH § -
A. Tom

p. faddra®

C. Ghdm

D. HTEH

E. TR

id feu e fadedf 6 © O8I SR

s
I

—:

1.A CBED
2B D CAE
3.CADEB
4D ECAB

Options :

21052931873. 1
21052931874. 2
21052931875. 3

21052931876. 4

Question Number : 20 Question Id : 2105298113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List I with List Il

List | List II
A. Poor listeners |. Scold others
B. Aggressive listeners II. Easily agree with the speaker

— Il Listen to ideas not understanding emotions
C. Positive listener

D. Pseudo-intellectual listeners ) ,
IV. Fidget compulsively

Choose the correct answer from the options given below:

T.A-1LB-1ILC-1ILD-IV
ZA-1L,B-1,C-1V,D-|
JA-ILB-IV,C-,D-1
4A-W,B-1LC-1ILD-1ll

Options:

21052931877. 1
21052931878. 2
21052931879. 3

21052931880. 4

Question Number : 20 Question Id : 2105298113 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gi-| &I gi-1 Y gferd Sifo -

Tl Tl

A. & ST | 3 B S &

B. 3THTH® Hidl I, ST T gad1 & 91y YeHd 6id &

c =y g I, HIGTTT TR 56 9 4 [9aR| &l gd g
D. BU AP 4l |Iv. TGN AP HaeR Uaidid & ol
o feu e faweal § O 981 I 9T

TLA-LB-ILC-II,D-IV
ZA-, B=LC- IV, D=1
3A-NILB-IV,C-1,D-1
4A-IVE-LC-1IL,D-1

Options :



21052931877.1
21052931878. 2
21052931879. 3

21052931880. 4

Question Number : 21 Question Id : 2105298114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A train is travelling at a speed of 96 kilometres per hour. It takes 3 seconds to enter a tunnel
and 30 seconds more to pass through it completely. Which of the following statements are
correct?

A. Length of the tunnel is 100 meters

B. Tunnel is longer than train

C. Train is longer than tunnel

D. Length of the train is 80 meters

E. Length of the tunnel in 800 meters

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and B only
3. Cand D only
4. B, D and E only

Options :

21052931881. 1
21052931882. 2
21052931883. 3
21052931884. 4

Question Number : 21 Question Id : 2105298114 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

U YerTTe! U He 96 fovaitiiex @l 71 T Jeid! &1 98 U G371 & 7a% a3 | 3 YU oildl &
3R 39! Gl e UR 3 H 30 YahUs 3R ool o | Fufafad O O T oY Tel & 2

A. QT P! 7T 100 HeX B
B, & LeTIe] @) ol | e ol gl
C. TS G ¥ SHf¥yd il 81
D. TS @ daTg 80 Hiet 5

E. Q&1 @l daT3 800 HieX 5

i fer e faaedl & 4 98l S gL
1. Bad A, C HRD

2. Bad A 3R B

3. %qd C ¥R D
4 HaaB,D AR E

Options:

21052931881. 1
21052931882. 2
21052931883. 3

21052931884. 4

Question Number : 22 Question Id : 2105298115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The difference between the ages of two men is 10 years. 15 years ago, the elder one was twice
as old as the younger one. The present age of the elder man is

1. 25 years
2. 35 years
3. 45 years
4. 40 years

Options :

21052931885. 1



21052931886. 2
21052931887. 3

21052931888. 4

Question Number : 22 Question Id : 2105298115 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

&l odfderdl @ 99 H 10 HIa BT 3Rk 21 15 91K Ygdl oUg adicd &1 35 dH8 § g 41 dl dadF

# Uy i B SH AT 2

12574

23594

3.45 Y
440 T8

Options :

21052931885. 1
21052931886. 2
21052931887. 3

21052931888. 4

Question Number : 23 Question Id : 2105298116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il
For two numbers 84 and 96 Result
A HCF . 672
B. LCM 1. 8064
C. Product l. 180
0. Sum V.12

Choose the correct answer from the options given below:

TA-I,LB-IW,C-1ll,D-1
2ZA-,B-IV,C-1,D-1l
SA-ILB-IV,C-1,D-1I
4 A-IV,B-I,C-1,D- 1l

Options:

21052931889. 1
21052931890. 2
21052931891. 3

21052931892. 4

Question Number : 23 Question Id : 2105298116 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ol Gmralt 84 3R 96 & A0 TI1-1 @I G- H 58 e ooy 9 gafee #ifeu

g1 -1l

ATI T TE l. 672

B.UG HITH II. 8064
C. HGT 111, 180
D. T V.12

I feu v fadedf ¥ © g8l Iwr 9T

T.A-1,B-IV,C-1ll,D-1l
ZA-1,B-IW,C-1I,D-1l
3A-ILB-IV,C-1,D-1l
4 A-IV,B-1,C-1l,D-10

Options :



21052931889. 1
21052931890. 2
21052931891. 3

21052931892. 4

Question Number : 24 Question Id : 2105298117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: A number is divisible by 25, if the number formed by its last twe digits is either
(00) or divisible by (25)
Statement II: A number is divisible by 16, if the number formed by its last 4 digits is divisible

by 16

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true

Options :

21052931893. 1
21052931894. 2
21052931895. 3
21052931896. 4

Question Number : 24 Question Id : 2105298117 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



aﬁ%aﬁ“mmﬁﬁw%‘:
Y- : TP T 25 GRI faune €, 9% 59 9% & Sifag &f 3@ (00) 71 (25) § Gur=a B

TYA-I| : TP T 16 GRI AU &, Il 39 T%1 & Sifdd IR 3@ gRI a4 9% 16 © [GyTe
gl

SUldd BYAl & e 4 Fgifdd fdeal d 9 98 W

1. YT | 3R 11 G Tel gl

2. B | 3R 1 GHT e &

3. BYA-1 9 &, foieg Y- T &
4, BY-| 39 &, o DYH-11 GBI B

Options:

21052931893. 1
21052931894. 2
21052931895. 3

21052931896. 4

Question Number : 25 Question Id : 2105298118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Triangle Area . Base x hight

B. Square Area Il. 1/2 x (Product of diagonals)
C. Rhombus Area ll. 1/2 x Base x Height

D. Parallelogram Area V. (Side)?

Choose the correct answer from the options given below:

TLA-ILEB-IV,C-1,D-1
ZA-NLB-IV,C-Il,D-I
3.A-NILB-IV,C-1,D-1
4 A-1LB-ILC-LD-IV

Options :
21052931897. 1

21052931898. 2



21052931899. 3
21052931900. 4

Question Number : 25 Question Id : 2105298118 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tdl-| B Gail-Il § AR B -

g1 gl- 11

A, BIYS &1 8a%a | TR x Fdlg

B. 37 A I, 1/2 x (Gl @1 UHEa)
C. §HAqYA @1 aA%d 1. 1/2 x SR x Has

D. AFTER Iqys &1 &% V. {352

< fou e fgdedl § § 98l SR g

TLA-ILB-IV,C-1,D-1l
ZA-NILB-IV,C-1l,D-|
3A-ILB-IV,C-1,D-1
4A-ILB-IILC-I,D-1V

Options :

21052931897. 1
21052931898. 2
21052931899. 3

21052931900. 4

Question Number : 26 Question Id : 2105298119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



All flowers are toys. Some toys are trees. Some butterflies are trees, then
A. No butterfly is flower

B. Some butterflies are toys

C. Some toys are flowers

D. Some trees are flowers

E. Some trees are butterflies

Choose the correct answer from the options given below:

1. A and B only
2. C and E only
3. B and E only
4. B and D only

Options :

21052931901. 1
21052931902. 2
21052931903. 3

21052931904. 4

Question Number : 26 Question Id : 2105298119 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



it qw e €1 oo fadiH 96 €1 o faafemi qare ot :
A B3 1 faach oo 72 81

B. $@ faafemi faaH B

C. 9% g g g

D. D% 34 JHU 5|

E. © g4 faaferdi g

il fau e fawedt & 9 9t Iw g

1. Had A 3R B
2. &ad C 3R E
3. HAAB IARE
4. HaABARD

Options :

21052931901. 1
21052931902. 2
21052931903. 3

21052931904. 4

Question Number : 27 Question Id : 2105298120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Wherever there is smoke, there is fire.

There is smoke in Mr Verma's chamber,

There must be fire in Mr Verma's chamber.”

In accordance with Indian logic, this is an example of

1. Pratyaksha pramana (Perception)
2. Upmana (Comparison)

3. Hetvabhasa (Fallacy)

4. Vlyapti (Invariable relations)

Options :



21052931905. 1
21052931906. 2
21052931907. 3

21052931908. 4

Question Number : 27 Question Id : 2105298120 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
" Jel del Yl g, del Al e

ot 901 & ®& F Y g
o1 391 & & H A gH Frfel ¢

HRATT T & 18R I8 Fyieied § § [$yd e & -

1. Ueda UHIUI
2. 309H
4, I

Options :

21052931905. 1
21052931906. 2
21052931907. 3

21052931908. 4

Question Number : 28 Question Id : 2105298121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In order to authenticate the environmental values as advocated by our ancestors, a scholar
cites examples from Vedas. The means of knowledge used by him/her in terms of Indian logic
will be called

1. Anumana (inference)

2. Arthapatti ( Implication)

3. Shabda (Verbal testimony)
4. Upamana (Comparison)

Options :

21052931909. 1
21052931910. 2
21052931911. 3
21052931912. 4

Question Number : 28 Question Id : 2105298121 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

SR Udell GR1 U&IRd waiaRuliy gedi &1 U910 o+ & [ U e da) 9 JaTey 364d
Bl & | YR THURE D1 2P U 3G FRI TG F1H P FIEH DI 3] Bl ST

1. HFAA
2. Jpufufg
3. ey

4, SUH

Options :

210529319009. 1
21052931910. 2
21052931911.3

21052931912. 4

Question Number : 29 Question Id : 2105298122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

Inthe series B, D, H, J, N, P, ... What will come after P?

=

I.

b Pl
— = A

Options :

21052931913. 1
21052931914. 2
21052931915. 3
21052931916. 4

Question Number : 29 Question Id : 2105298122 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
$@AI B, D, H, J, N, P H P o Tg o1 AT 2

.U

o b
— =

Options :

21052931913. 1
21052931914. 2
21052931915. 3

21052931916. 4

Question Number : 30 Question Id : 2105298123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



If LIGHT is written as GILTH and FIGHT is written as GIFTH, then SIGHT will be written as

1. GISHT
2. GISTH
3. GSITH
4. GSIHT

Options :

21052931917. 1
21052931918. 2
21052931919. 3

21052931920. 4

Question Number : 30 Question Id : 2105298123 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qfe LIGHT I GILTH U § ol Wil € 3R FIGHT ®I GIFTH & ¥ H [ 91l 8 6l SIGHT
@ fg & o fora o

1. GISHT
2. GISTH
3. GSITH
4, GSIHT

Options :

21052931917.1
21052931918. 2
21052931919. 3
21052931920. 4

Question Number : 31 Question Id : 2105298124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



GUI stands for

1. Graphical Usage Interaction
2. Gaming User Interface

3. Graphical user Interface

4. Graphical User Interaction

Options :

21052931921. 1
21052931922. 2
21052931923.3

21052931924. 4

Question Number : 31 Question Id : 2105298124 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Wgs DT RdOdd g

e

ANt TS §eXUaEH
 Afthehal Gol XY
. e d o $eITaRH

L0 o

Options :

21052931921. 1
21052931922. 2
21052931923.3

21052931924. 4

Question Number : 32 Question Id : 2105298125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: Operating systems are hardware

Statement II: Algorithm is a step by step procedure to solve a problem

In light of the above statements,choose the correct answer from the options given below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is correct but Statement |l is false
4 Statement | is incorrect but Statement Il is true

Options :

21052931925. 1
21052931926. 2
21052931927.3
21052931928. 4

Question Number : 32 Question Id : 2105298125 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EICEAL IR R AR S

HYF-| : R ey gr8am 3|
Y-l : TETR 3l el 991 & 991U &1 9RU-5X-930 UG id o
Sudad HYHl & e | Fgiied [decdl § U 98l S 9

1. Y | AR 1| SHf Wl g1
2. @Y | 3R || GFl Tad &
3. BYA-1 9 B, food pYH-11 Tad 8
4 HYF-| AT 8, foog BYA-11 Gl B

Options :

21052931925. 1
21052931926. 2
21052931927.3

21052931928. 4



Question Number : 33 Question Id : 2105298126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0
Given below are two statements

Statement I: Compilers are software

Statement II: Touch screen monitors are input/output devices

In light of the above statements,choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement |l is false
4, Statement | is false but Statement Il is true

Options :

21052931929. 1
21052931930. 2
21052931931. 3

21052931932. 4

Question Number : 33 Question Id : 2105298126 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

EIE | ﬁﬂﬁﬁ’f”@%:
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1. ®YF | 3R 1| SFf 98l Bl
2, WY | A || ST TTad &
3. Y- 9 &, g SY-1 TEd B
4. DYF-| HI 8, foog HYH-11 981 B

Options :




21052931929. 1
21052931930. 2
21052931931. 3

21052931932. 4

Question Number : 34 Question Id : 2105298127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Image . .doc

B. Video 1. .mp3
C. Audio 1. jpeg
D. Word processing V. .mpeg

Choose the correct answer from the options given below:

TA-1L,B-I,C-II,D-1V
ZA-NILB-IV,C-1l,D-|
A=, B=ILC-IV,D-|
4 A-1,B-IV.C-lILD-1

Options :

21052931933. 1
21052931934. 2
21052931935. 3
21052931936. 4

Question Number : 34 Question Id : 2105298127 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



G- I Fai-1l & Yy Ao i :

gdl-| gl-Ii

A. 3H9 131t
B. difear I, TH O3

C. 3ffsar . St g i
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id feu 77u fadedl © 9 U8l IR 9T

T.A-1,B-I,LC-1,D-IV
ZA-ILB-IV,C-Il,D-1
3A-ILB-LC-IV,D-1
4 A-1,B-IV,C-1Il,D-1

Options:

21052931933. 1
21052931934. 2
21052931935. 3
21052931936. 4

Question Number : 35 Question Id : 2105298128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Search engine I. www.gmail.com
B.Job openings Il www.amazon.in
C. E-mail 1. www.google.com
D. E-commerce V. www.naukri.com

Choose the correct answer from the options given below:

TL.A-N,B-IW,C-|,D-I
ZA-IV,B-IILC-1,D-1ll
3A-1L,B-1LC-1I,D-V
4 A-1LB-IILC-N,D-1V

Options :

21052931937. 1



21052931938. 2
21052931939. 3

21052931940. 4

Question Number : 35 Question Id : 2105298128 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dl-1 DI gdl-1l Y AR BIfeg :

gl -1

A Eﬁ%@ I. www.gmail.com

B. g AU Il www.amazon.in

L %—ﬁa l1l. www.google.com
D. 'ﬁf—ﬁﬂﬁ V. www.naukari.com

TA-I,B-IV,C-1,D-Il
ZA-IV,B-NILC-1,D-1
3A-1,B-1I,C-I,D-1V
4 A-1,B-NLC-1I,D-1V

Options :

21052931937. 1
21052931938. 2
21052931939. 3

21052931940. 4

Question Number : 36 Question Id : 2105298129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of countries contributing to global CO; emission in decreasing
order from fossil fuel burning, cement manufacturing and gas flaring in the year 2014

A USA

B. EU-28

C. China

D. Russia

Choose the correct answer from the options given below

1.C,ABD
2ACBD
3.ABCD
4ACDB

Options :

21052931941. 1
21052931942. 2
21052931943.3

21052931944. 4

Question Number : 36 Question Id : 2105298129 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U 2014 H SIGTRA 549 & FeH, YHe & (i 3R 79 & Fediod giH & DRU dEd o, &
It H G % g1 G2 & Yed A Sl TgdH BIL;

A. G T SfHRET

3.3 Y- 28
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D. &4

i feu e fawedl © 4 9l S gL

1.CAEBD
2ACED
3ABCD
4 ACDE



Options :

21052931941. 1
21052931942, 2
21052931943.3
21052931944. 4

Question Number : 37 Question Id : 2105298130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are used as semiconductor materials to fabricate solar cells
A. Silicon (Si)

B. Tin oxide (SnO)

C. Cadmium Sulphide (CdS)

D. Gallium Arsenide (GaAs)

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3. B, Cand D only
4. A B CandD

Options:

21052931945. 1
21052931946. 2
21052931947.3

21052931948. 4

Question Number : 37 Question Id : 2105298130 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fofafag 7 ¢ foge oor 98 & AT H tdidssy & Tu H S far oan § 2
A. Fafer®iA (si)

8. fe1 3{1a9133 (Sn0)

C. B Gapiss (CdS)
D. TIi1gH HEATEE (Gahs)
- feu v famedl & © 9 IR gHU:

1.Paq A 3R C
2. Had A R B
3. HaaA B, C 3R D

4.A B, C3RD
Options :
21052931945, 1
21052931946. 2
21052931947. 3

21052931948. 4

Question Number : 38 Question Id : 2105298131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a Sustainable Development Goal?

1. Gender equity

2. Climate action

3. Protection of Ozone layer
4. Life below water

Options :

21052931949. 1
21052931950. 2
21052931951. 3

21052931952. 4



Question Number : 38 Question Id : 2105298131 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fofofed 5 9 o9 9ad Aeaasg T8l 8 7

1. ST fsgemT

2. Siaarg a4l uga
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Options :

21052931949. 1
21052931950. 2
21052931951. 3

21052931952. 4

Question Number : 39 Question Id : 2105298132 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List I

List | List 11

Pathogens in water Disease they cause
A. Virus I. Cholera

B. Bacteria Il Schistosomiasis
C. Protozoa lIl. Hepatitis

D. Helminths (Parasitic worm) IV. Dysentery

Choose the correct answer from the options given below:

TLA-LB-WLC-IV,D-1l
ZA-LB-IL,C-ILD-IV
ZA-ILB-LC-ILD-IV
4A-ILE-L,C-IV,D-1

Options :
21052931953, 1

21052931954. 2



21052931955. 3
21052931956. 4

Question Number : 39 Question Id : 2105298132 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tal-1 Bl Gai-1l T GHIEd BT :

Tdi-1 gl- 11

A. faum . goll

B. il I, e EET
C. Ulera N EER
D. afcHeg (GRold! i) WAIEE]

<id feu e f9@eal 5 9 981 I g

T.A-LB-U,C-W,D-Il
2ZA-,B-U,C-I,D-IV
SA-IILB-L,C-ILD-IV
4 A-ILB-LC-IV,D-1l

Options :

21052931953. 1
21052931954. 2
21052931955. 3

21052931956. 4

Question Number : 40 Question Id : 2105298133 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are emitted from a coal-based thermal power plant?
A. Carbon monoxide

B. Ozone

C. Sulphur dioxide

D. Methane

E.Particulate matter

Choose the correct answer from the options given below:

1. A, B, Cand E only
2. A, C and E only
3. A, Band Conly
4 A C DandEonly

Options :

21052931957. 1
21052931958. 2
21052931959. 3

21052931960. 4

Question Number : 40 Question Id : 2105298133 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafafaa & 3 fead o - snuid aig fdggd 9937 ¥ 3&eH sidl o ?
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B. 3%

C. e SIeHIFaRS

D. H144

E. Ufédpoie AR

T4 feu U faeeyl 9 © 96l IR &1 98 DI :

1. BadAA, B, C 3R E
2. BaAAA, CIHRE
3. ®AAA, BARC
4. HaAA C DIRE

Options:

21052931957. 1
21052931958. 2
21052931959. 3

21052931960. 4

Question Number : 41 Question Id : 2105298134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements

Statement I: The three greatest challenges facing higher education in India, described by
FICCI (2012) are expansion, equity and excellence

Statement lI: While all three issues indicated in Statement | are inter-linked, equity to a large
extent is dependent on expansion and access

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement Il is false
4, Statement | is incorrect but Statement I is true



Options :

21052931961. 1
21052931962. 2
21052931963. 3
21052931964. 4

Question Number : 41 Question Id : 2105298134 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o1 el (2012) MR H I e & wwe o el 931 i - TR, A )
3R Ippdl gdalg ol
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fEaR SR S | AR B

Juddd B & HTeiid § Hgifed fddedl 3§ 4 95l S I

1. @Y | R 11 & 98l &l
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Options:

21052931961. 1
21052931962. 2
21052931963. 3

21052931964. 4

Question Number : 42 Question Id : 2105298135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are regulatory bodies within the Department of Higher Education in the
Ministry of Human Resource Development in the Central Government?

A. NUEPA

B. UGC

C. AICTE

D. DEC

E. ICSSR

Choose the correct answer from the options given below:

1. B, Cand D only
2. A B and Conly
3.C, D and E only
4. A Dand E only

Options :

21052931965. 1
21052931966. 2
21052931967. 3

21052931968. 4

Question Number : 42 Question Id : 2105298135 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931965. 1
21052931966. 2
21052931967. 3

21052931968. 4

Question Number : 43 Question Id : 2105298136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify from the following, features which describe most appropriately the Indian values
A. Emphasis on individual ambition

B. Emphasis on collectivism

C. Emphasis on social progress

D. Emphasis on social stability

E. Emphasis on unity in diversity

Choose the correct answer from the options given below:

1. A B and C only
2. B, Cand D only
3.C, D and E only
4.B, D and E only

Options :

21052931969. 1
21052931970. 2
21052931971.3
21052931972. 4

Question Number : 43 Question Id : 2105298136 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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C. FHIi® Jaid | 9
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E. fafded # toa W aa
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3.%aaC D ARE
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Options :

21052931969. 1
21052931970. 2
21052931971.3

21052931972. 4

Question Number : 44 Question Id : 2105298137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements

Statement I: The UGC in India has statutory responsibility for maintenance of quality and

coordination of institutions of higher education

Statement II: The NCTE being a regulatory body for teacher education in India comes under
the control of UGC

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement Il is true

Options:

21052931973. 1
21052931974. 2
21052931975. 3

21052931976. 4

Question Number : 44 Question Id : 2105298137 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o sEiums.

Y1 : 4 H I g1 TR 1 [Ura SR THY ST TG4 &1 IS ke guil.al
G

-1 . L AL S, 4Ra | e e &1 U Hepr g o A1 g, o W, & A0 & el
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1. B4 | AR 1 &H G &
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4, BY-| G &, g HY-1 TEI B

Options :

21052931973. 1



21052931974. 2
21052931975. 3

21052931976. 4

Question Number : 45 Question Id : 2105298138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In university governance, who is the executive head?

1. The Chancellor

2. The Vice-Chancellor

3. The Registrar

4. The Education Secretary

Options :

21052931977. 1
21052931978. 2
21052931979. 3

21052931980. 4

Question Number : 45 Question Id : 2105298138 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafefed & 3 o1 yfaeg TReH § SEeRN S8 8§ 7

1. PaAnegd
2. Padid

3. Pq 9idd
4, fen 9fg

Options :
21052931977. 1
21052931978. 2

21052931979. 3



21052931980. 4

Sub-Section Number : 3
Sub-Section Id : 210529311
Question Shuffling Allowed : Yes

Question Id : 2105298139 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the given passage carefully and answer the questions that follow

At the turn of the century, a dominant conception of the child as learner was that he was
cognitively an "empty organism" responding more or less randomly to stimulation, and
characteristically learning when specific responses were connected with specific stimuli
through the meditation of pleasure or pain. The organism itself, it was believed, would do
nothing to learn or think if it were not impelled to such activity by primary drives like hunger
or thirst or by externally applied motives like reward and punishment. Experimenters in the
laboratory were connecting correct responses of animals to puzzle boxes by giving or
withholding food and teachers in the classroom were connecting correct responses of children
to problem cards by giving or withholding approval.

In pointing to this aspect of the turn-of-the-century view of the leamner, | do not mean to
derogate the historic achievement of the connectionist formulation of learning. But the
essential point remains, a conception of the learner as an ideationally empty organism
associating discrete stimuli and responses through the operation of rewards and punishments
under the control of the teacher. Both the stimulus - what was supposed to be learned - and
the response - what was actually learned - were believed to be determined by the teacher.

It was no accident that the materials and methods of instruction and the form of the classroom
were teacher-centred. The teacher was necessarily placed in front of the classroom -
sometimes on a dais or platform - and the pupils in chairs rigidly fastened to the floor in
straight rows facing forward so they would not turn away from the only source of the learning
experience: the teacher. Given this contemporary vision of the learner, what could be a more
eminently practical and sensible image of the ideal learning environment? Indeed, there is a
letter by John Dewey dating from this period in which he complains that when he was trying to
equip his new school according to his different conception of child as learner, he was unable
to find any other kind of classroom furniture.

Sub questions



Question Number : 46 Question Id : 2105298140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The early child was thought of as

1. Intelligent enough to know both pain and pleasure
2. Having no power of cognition

3. Not amenable to specific stimuli

4. Having motivational effect in a random way

Options :

21052931981. 1
21052931982. 2
21052931983. 3

21052931984. 4

Question Number : 47 Question Id : 2105298141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The basic idea behind laboratory experiment was related to

1. Motivating the child with reward and punishment

2. Considering hunger and thirst as negligible in impact
3. Animals and children having the same drive

4. Teachers controlling children

Options :

21052931985. 1
21052931986. 2
21052931987. 3

21052931988. 4

Question Number : 48 Question Id : 2105298142 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The connectionist formula placed importance on

1. Withholding negative stimuli

2. Teacher-centric motivation

3. Search for specific responses

4. Doing experiments in laboratories

Options :

21052931989. 1
21052931990. 2
21052931991. 3

21052931992. 4

Question Number : 49 Question Id : 2105298143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

What was expected of pupils during those early days?

1. To create an ideal learning environment

2. To be in the forefront of the classroom

3. Be attentive towards classroom teaching

4. To place the teacher on the higher pedestal

Options :

21052931993. 1
21052931994. 2
21052931995. 3
21052931996. 4

Question Number : 50 Question Id : 2105298144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What did John Dewey say of child learning?

1. Teacher as the only source of knowledge

2. The learner should be given incentives for learning
3. The existing educational environment was ideal

4. The focus should be on child as a learner

Options :

21052931997. 1
21052931998. 2
21052931999. 3

21052932000. 4

Question Id : 2105298139 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 2105298140 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. 99 @1 Aiagd A 84T
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Options:
21052931981. 1
21052931982. 2



21052931983. 3

21052931984. 4

Question Number : 47 Question Id : 2105298141 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1. [ROR 3R GUS gRI STa® DI SATHURO ST

2. {81 3R fOur &l UHE § 910G JEA]

3. URp3HT 3R STei! GHl H GHH TSR $I U0 ST
4. FR1&/! gRT arcs! &I FRifAd &

Options:

21052931985. 1
21052931986. 2
21052931987. 3

21052931988. 4

Question Number : 48 Question Id : 2105298142 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. PRSP 35 UE Bl Al
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Options :

21052931989. 1
21052931990. 2
21052931991. 3

21052931992. 4



Question Number : 49 Question Id : 2105298143 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

TR S H [Genidal ¥ 7 U $i ol 41 2

1. U@ MG 3HFEATH URa= &1 FHEm S
2, BETH ROl T§
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Options :

21052931993. 1
21052931994. 2
21052931995. 3

21052931996. 4

Question Number : 50 Question Id : 2105298144 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052931997. 1
21052931998. 2
21052931999. 3

21052932000. 4



PART II Performing Arts

Section Id : 21052998
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 46
Number of Questions to be attempted : 46

Section Marks : 100
Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 210529312
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 2105298145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following characters is NOT in Cilappadikaram?

1. Kovalan
2. Kannagi
3. Uma

4. Madhavi
Options:
21052932001. 1
21052932002. 2
21052932003. 3

21052932004. 4



Question Number : 51 Question Id : 2105298145 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fofafad 7 4 @F-9 v RauiceRaI 5 981 & 7

2. dFI
3. 34l
4. Tredt

Options :

21052932001. 1
21052932002. 2
21052932003. 3

21052932004. 4

Question Number : 52 Question Id : 2105298146 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following characters is NOT in Ramayana?

1. Kaushalya
2. Urmila

3. Brihannala
4. Mandodari

Options :

21052932005. 1
21052932006. 2
21052932007. 3

21052932008. 4

Question Number : 52 Question Id : 2105298146 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

P N e oo

P A Y -O U YO H T8 & 2

2. SfHa
4. HGigs

Options :

21052932005. 1
21052932006. 2
21052932007. 3

21052932008. 4

Question Number : 53 Question Id : 2105298147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the following do we find the story of Balaram'’s sports on the mountain Raivataka
and the killing of Dwivida?

1. Bhagavata Purana
2. Skandha Purana
3. Vishnu Purana

4. Shiva Purana

Options:

210529320009. 1
21052932010. 2
21052932011.3

21052932012. 4

Question Number : 53 Question Id : 2105298147 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
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Options :

210529320009. 1
21052932010. 2
21052932011. 3
21052932012. 4

Question Number : 54 Question Id : 2105298148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which Yuga, Krishna was born?

1. Satyuga

2. Dwaparayuga
3. Tretayuga

4. Kaliyuga

Options :

21052932013. 1
21052932014. 2
21052932015. 3

21052932016. 4

Question Number : 54 Question Id : 2105298148 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. FGT
2. glugil

3. ﬂ“nlqh

4 dad?
Options :
21052932013. 1
21052932014. 2
21052932015. 3

21052932016. 4

Question Number : 55 Question Id : 2105298149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name of a Buddhist ritual theatre in Myanmar, earlier known as Burma?

1. Nat pwe
2. Nibhatkim
3. lataka

4. Ramakien

Options :

21052932017.1
21052932018. 2
21052932019. 3
21052932020. 4

Question Number : 55 Question Id : 2105298149 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



TH H dlg B FHT & @ AA G ?

1.7e 9
2. [HydisH
3. TId®

Options :

21052932017. 1
21052932018. 2
21052932019. 3

21052932020. 4

Question Number : 56 Question Id : 2105298150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are comic interlude during the fifteenth century of Japan?

1. Kyogen
2. Kabuki
3. Gigaku
4. Genroku

Options :

21052932021. 1
21052932022. 2
21052932023.3
21052932024. 4

Question Number : 56 Question Id : 2105298150 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932021. 1
21052932022. 2
21052932023. 3
21052932024. 4

Question Number : 57 Question Id : 2105298151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following are Mimes during the 12'-14" centuries of Japan?

1. Shimpa
2. Sarugaku
3. Vaudeville

4. Kagura
Options :
21052932025. 1
21052932026. 2
21052932027. 3

21052932028. 4

Question Number : 57 Question Id : 2105298151 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. PFRI

Options :

21052932025. 1

21052932026. 2

21052932027. 3

21052932028. 4

Question Number : 58 Question Id : 2105298152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is the Sun goddess, according to Shinto religion of Japan?

1. Amaterasu-omikami
2. Susano'o
3. Uzume

4. Amano- lwato
Options :

21052932029. 1
21052932030. 2
21052932031. 3
21052932032. 4

Question Number : 58 Question Id : 2105298152 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. SR - D
3. S
4. M - cdrdl

Options :

210529320209. 1
21052932030. 2
21052932031. 3

21052932032. 4

Question Number : 59 Question Id : 2105298153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a male character in Beijing Opera?

1. Jing
2. Chou
3. Sheng
4. Dan

Options :

21052932033. 1
21052932034. 2
21052932035. 3
21052932036. 4

Question Number : 59 Question Id : 2105298153 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. dhh

4.5

Options :
21052932033. 1
21052932034. 2
21052932035. 3

21052932036. 4

Question Number : 60 Question Id : 2105298154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following theatre forms belongs to Java?

1. Komedya

2. Moro - moro
3. Ketoprak

4. Angura

Options :

21052932037. 1
21052932038. 2
21052932039. 3
21052932040. 4

Question Number : 60 Question Id : 2105298154 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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- =

1. PHE

3. HeUTD

4' I _E

Options :
21052932037. 1
21052932038. 2
21052932039. 3

21052932040. 4

Question Number : 61 Question Id : 2105298155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following is an early form belonging te Chinese drama?

1. Sandiwara

2. Ulek

3. Conjun opera
4. Mak Yong

Options :

21052932041. 1
21052932042. 2
21052932043. 3

21052932044. 4

Question Number : 61 Question Id : 2105298155 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. GEIaRT

2. 3@

3. Do AT
4. 8% a7

Options :

21052932041. 1
21052932042. 2
21052932043. 3
21052932044. 4

Question Number : 62 Question Id : 2105298156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Krishna- attam is a cycle of eight plays. Which play of the following is in the 57 cycle?

1. Bana Yuddham
2. Swayamvaram
3. Vivida vadham
4. Ras Krida

Options :

21052932045. 1
21052932046. 2
21052932047.3

21052932048. 4

Question Number : 62 Question Id : 2105298156 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 99 GgH
2. TWUaeH
3. fdfdy agm
4. I isl

Options :

21052932045. 1
21052932046. 2
21052932047. 3

21052932048. 4

Question Number : 63 Question Id : 2105298157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following describes the gestures of the nose, according to Natyashastra?

1. Vivartita
2. Vikanita
3. Kuncita
4, Vidhuta

Options :

21052932049. 1
21052932050. 2
21052932051. 3
21052932052. 4

Question Number : 63 Question Id : 2105298157 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



ATCIRIRE & SER Hafifad # I 91T & oFl & 9uH @ - T axdl & ?
1. faafda

2. fapior

3. Di=d

4, fayd

Options :

21052932049. 1

21052932050. 2

21052932051. 3

21052932052. 4

Question Number : 64 Question Id : 2105298158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following denotes the models required as stage property accerding to

Natyashastra?

1. Alamkara

2. Anga-racana
3. Pusta

4. Sarijiva

Options :

21052932053. 1
21052932054. 2
21052932055. 3
21052932056. 4

Question Number : 64 Question Id : 2105298158 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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57

1. AR

2. TR

3.0
4. 39

Options :

21052932053. 1
21052932054. 2
21052932055. 3
21052932056. 4

Question Number : 65 Question Id : 2105298159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which technique Bharata has prescribed for showing the simultaneous scenes being played at
different localities or different parts of a locality?

1. Nagadanta

2. Sopanakruti

3. Kaksya-vibhaga
4. Yavanika

Options :

21052932057. 1
21052932058. 2
21052932059. 3
21052932060. 4

Question Number : 65 Question Id : 2105298159 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. dRTGd

2. Y1

3. B - G
SRIGIER
Options :
21052932057. 1
21052932058. 2
21052932059. 3

21052932060. 4

Question Number : 66 Question Id : 2105298160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Stambha-Paralysis type of bhava falls under which category?

1. Sthayi

2. Sanchari
3. Sattvika

4. Alamban

Options :

21052932061. 1
21052932062. 2
21052932063. 3

21052932064. 4

Question Number : 66 Question Id : 2105298160 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. TRl
3. Hiid®
4, JATcieq

Options :

21052932061. 1
21052932062. 2
21052932063. 3

21052932064. 4

Question Number : 67 Question Id : 2105298161 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which vrtti represents the vigorous mode, suitable for a heroic play?

1. Kaisiki
2. Sattavati
3. Arabhati
4. Bharati

Options :

21052932065. 1
21052932066. 2
21052932067. 3
21052932068. 4

Question Number : 67 Question Id : 2105298161 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. BID!
2. Iradi
3. HRYT]
4, YRt

Options :

21052932065. 1
21052932066. 2
21052932067. 3

21052932068. 4

Question Number : 68 Question Id : 2105298162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following denotes the determinant (Vibhava) of the durable psychological
state (Sthayi Bhava), Fear (Bhaya) according to Natyashastra?

1. Gururajaparadh

2. Maya-Indrajala

3. Ishtartha-Vishaya Prapti
4, Agharshna

Options :

21052932069. 1
21052932070. 2
21052932071.3
21052932072. 4

Question Number : 68 Question Id : 2105298162 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. TTERTSTORTY

2. FIT - 5ol
3. 3P - foug wif
4, AT

Options :

21052932069. 1
21052932070. 2
21052932071. 3

21052932072. 4

Question Number : 69 Question Id : 2105298163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

According to Natyashastra, the stringed instruments are known as

1. Susira

2. Ghana

3. Avanaddha
4, Tata

Options :

21052932073. 1
21052932074. 2
21052932075. 3

21052932076. 4

Question Number : 69 Question Id : 2105298163 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2.9
3. Hd&
4. dd

Options :

21052932073. 1
21052932074. 2
21052932075. 3

21052932076. 4

Question Number : 70 Question Id : 2105298164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In Balacarita and Dutavakyam attributed to Bhasa, the weapons of Vishnu and also Garuda

appear as Dramatic Characters. This is an example of

1. Lokdharmi

2. Kaishiki Vritti

3. Natyadharmi

4, Panchali Pravritti

Options :

21052932077. 1
21052932078. 2
21052932079. 3
21052932080. 4

Question Number : 70 Question Id : 2105298164 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. e

2. PR® Eiﬁf

3, e
4, el vg

Options :

21052932077.1
21052932078. 2
21052932079. 3

21052932080. 4

Question Number : 71 Question Id : 2105298165 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

When the audience expresses, joy accompanied by horripilation, by raising up from the seats,
by gifts of cloth and throwing rings on the stage- this kind of success is known as

1. Daivi Siddhi
2. Vritti

3. Manvsi Siddhi
4, Pravritti

Options :

21052932081. 1
21052932082. 2
21052932083. 3
21052932084. 4

Question Number : 71 Question Id : 2105298165 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ot e
2.9

3. A R
4. g

Options :

21052932081. 1
21052932082. 2
21052932083. 3

21052932084. 4

Question Number : 72 Question Id : 2105298166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which is the common aspect of nrtta, nrtya and natya?

1. Akasabhasita
2. Kaku

3. Gatraviksepa
4. Pathya

Options :

21052932085. 1
21052932086. 2
21052932087. 3

21052932088. 4

Question Number : 72 Question Id : 2105298166 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. ATRTHINT

2.u3£§
3. TEfge
4 OTa

Options :

21052932085. 1
21052932086. 2
21052932087. 3

21052932088. 4

Question Number : 73 Question Id : 2105298167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The lengths of the large, middle or medium and small theatre according to the Natyashastra of
Bharata are of following measures in Hasta respectively

1.64,32 16

2. 108, 32, 16
3. 108, 64, 32
4,128 64, 32

Options :

21052932089. 1
21052932090. 2
21052932091. 3

21052932092. 4

Question Number : 73 Question Id : 2105298167 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 64,32 16

2.108, 32, 16
3. 108, 64, 32
4.128, 64, 32

Options :

21052932089. 1
21052932090. 2
21052932091. 3
21052932092. 4

Question Number : 74 Question Id : 2105298168 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled as

Reason R

Assertion A: Natya can provide an escape into a world of pleasure and happiness more ably
and efficiently than any other art-form, according to Bharata's Natyasastra.

Reason R: Natya, unlike other arts, is both drsya and sravya; it has a visual and aural appeal.
In light of the above statements, choose the correct answer from the options given below.

1. Both A and R are true and R is the correct explanation of A.

2. Both A and R are true and R is Not the correct explanation of A.
3. A is true but R false

4. A is false but R is true

Options :

21052932093. 1
21052932094. 2
21052932095. 3
21052932096. 4

Question Number : 74 Question Id : 2105298168 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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el & 0% (R) Wel T ¢

el el & T (R) Wel ¢

Options :

1. (A
2. (A
3. (A
4 (A

Pl i o et

21052932093. 1
21052932094. 2
21052932095. 3

21052932096. 4

Question Number : 75 Question Id : 2105298169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled

35 Reason R

Assertion A: Perhaps the single most striking feature of the Chinese theatrical tradition is its

variety.

Reason R: The many regional cultures within China, and each social class within those cultures,
have for centuries nourished both regional and certain national forms of theatre of China.

In light of the above statements, choose the most appropriate answer from the options given

below.

1. Both A and R are correct and R is the correct explanation of A.

2. Both A and R are correct and R is Not the correct explanation of A
3. A is correct but R not correct.

4. A is not correct but R is correct

Options:

21052932097. 1
21052932098. 2
21052932099. 3

21052932100. 4

Question Number : 75 Question Id : 2105298169 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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51 8 U3 (R) WEI TR B
Tl 96l § g (R) T8I B

Options :

1. (A
2. (A
3. (A
4 (A

Pl o o g



21052932097. 1
21052932098. 2
21052932099. 3

21052932100. 4

Question Number : 76 Question Id : 2105298170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Find the correct sequence of performance of Kathakal:
A. Arangu Keli

B. Vandana

C. Thodayam

D. Purappadu

Choose the correct answer from the options given below:

e

.D, B, C A
G ADE
A GCED
.B. DA C

[ TR R 9

Options :

21052932101. 1
21052932102. 2
21052932103.3

21052932104. 4

Question Number : 76 Question Id : 2105298170 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



HYDTI P TG B ol A el ;
(A) ST BfT

(B) &l

(C) UisTH

(D) TG
Frafefed fieed & @ 98 SR IR

1.D, B, C A
2CADB
3ACBD
4B, DA C

Options :

21052932101. 1
21052932102. 2
21052932103. 3

21052932104. 4

Question Number : 77 Question Id : 2105298171 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Find the correct sequence from North to South according to the origin of Asian theatre forms:
A. Nanxi

B. Khen

C. Tuong

D. Lakhon Sback

Choose the correct answer from the options given below:

1.B.DAC
2ACED
3.D,ACB
4 CEDA

Options :



21052932105. 1
21052932106. 2
21052932107. 3

21052932108. 4

Question Number : 77 Question Id : 2105298171 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IR U S &1 3R URgH S Sl &1 3O & Uel hH 31 gled
(A) TSI (Nanxi)

(B) @H

(C) 3T

(D) TREH WH

fFafcied faeedl & § 98l W 9HU

.B,D A C
2ACED
3.D,ACEB
4. C B D A

e

Options :

21052932105. 1
21052932106. 2
21052932107.3
21052932108. 4

Question Number : 78 Question Id : 2105298172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following characters in order of their appearance in the Mahabharat:
A. Uttara

B. Satyavati

C. Hidimba

D. Madri

Choose the correct answer from the options given below:

1.A B D,C
2C ABD
3.0,C,AB
4B, D, C A

Options :

210529321009. 1
21052932110. 2
21052932111.3
21052932112. 4

Question Number : 78 Question Id : 2105298172 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TEMMRd 8 3ufRfa & S OR il & el &9 @i 2fild Bifa :

(D) H1sl
fgfafed faseal § ¥ 98l IR 9T .

1. A BDC
2CAED
3D, CAB
4B D, C A

Options :



21052932109. 1
21052932110. 2
21052932111. 3

21052932112. 4

Question Number : 79 Question Id : 2105298173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Arrange the following areas/parts of the Vikrsta or Ayata Natyagruha, as Bharata describes in
Natyashastra, Adhyaya 2, from West to East.

A. Preksaknivesan

B. Nepathyagrha

C. Rangapitha

D. Rangasirsa

Choose the correct answer from the options given below:

1.ACDEB
2B D CA
3.BCDA
4 ADCB

Options :

21052932113. 1
21052932114. 2
21052932115. 3

21052932116. 4

Question Number : 79 Question Id : 2105298173 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) H&rd FHa=H

(B) AT

(C) VT3

(D) TR

- fEu T fomedl # ¥ 981 W gL
1.A.C,D,B

2.B,D,C A

3.B,CDA
4ADCB

Options :

21052932113. 1
21052932114. 2
21052932115. 3
21052932116. 4

Question Number : 80 Question Id : 2105298174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence of the following items of Poorvaranga
A. Margasarita

B. Avatarana

C. Vaktrapani

D. Asravana

E. Ararnbha

Choose the correct answer from the options given below:

1.A B DCE
ZEADCEB
30,C, B AE
4B EDCA

Options :

21052932117. 1
21052932118. 2
21052932119. 3

21052932120. 4

Question Number : 80 Question Id : 2105298174 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A of (giaRad #al @1 981 o4 g
(A) AT

(B) AR

(C) IEAYTIOT

(D) SHTHTIOT

(E) 3R#

-d feu e fa@weal 5 § 981 Sk gHe

1.A B DCE
ZEADCEB
30,C, B AE
4B EDCA

Options :

21052932117. 1
21052932118. 2
21052932119. 3

21052932120. 4

Question Number : 81 Question Id : 2105298175 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Choose the correct sequence of the following aspects ‘ekadash sangraha’.
A. Bhava

B. Dharmi

C. Pravritti

D. Abhinaya

E. Vritti

Choose the correct answer from the options given below:

1A D, B, EC
2ZCBAED
30,C, B AE
4 EACEBD

Options :

21052932121. 1
21052932122. 2
21052932123.3

21052932124. 4

Question Number : 81 Question Id : 2105298175 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(C) Ul
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s
I

—:

1A D, B, EC
2ZCBAED
30,C, B AE
4 EACEBD

Options :

21052932121. 1
21052932122. 2
21052932123.3

21052932124. 4

Question Number : 82 Question Id : 2105298176 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which THREE among the following believe in Art as Emotional Expression?
A. Joyce Cary

B. Eugene Veron

C. Leo Tolstoy

D. ¥rjd Hirn

E. Morris Weitz

Choose the correct answer from the options given below:

1. B, C and D only
2. A, B and C only
3.C, D and E only
4. D, E and A only

Options :

21052932125. 1
21052932126. 2
21052932127.3
21052932128. 4

Question Number : 82 Question Id : 2105298176 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) SILG P

(B) gfoH o=

(c) ot elaeig

(D) Tt fee

(E) Hifvy faea

g feu e f9eeal ¥ ¥ 98 SW g
1. Had (B), (C) 3R (D)
2, Pad (A), (B) 3R (C)
3. 9ad (C), (D) 3R (E)
4, &gd (D), (E) 3R (A)
Options :

21052932125.1
21052932126. 2
21052932127. 3

21052932128. 4

Question Number : 83 Question Id : 2105298177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two among the following are Pravritti according to Bharata's Natyashastra?
A. Angaracana

B. Avanti

C. Apati

D. Apavaritaka

E. Paficali

Choose the correct answer from the options given below:

1. A and C only
2. B and E only
3. Cand D only
4. Band D only

Options :

21052932129. 1
21052932130. 2
21052932131.3

21052932132. 4

Question Number : 83 Question Id : 2105298177 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(A) ST

(B) 1=l

(C) Ut

(D) IS

(E) UIaTat

i fen e famedl & ¥ gaiite 39gad SR gHU
1. &3 (A) 3R (O)
2. 9ad (B) 3R ()
3. ®ad (C) 3R (D)
4, &gd (B) 31X (D)
Options :

21052932129.1
21052932130. 2
21052932131. 3

21052932132. 4

Question Number : 84 Question Id : 2105298178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which THREE among the following Sanchari Bhavas belong to Sringara Rasa according to
Natyashastra?

A. Glani

B. Sanka

C. Asuya

D. Alasya

E. Ugrata

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.D, Eand A only
4.C,Dand E only

Options :

21052932133. 1
21052932134. 2
21052932135. 3

21052932136. 4

Question Number : 84 Question Id : 2105298178 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3R
G'EJR P
() 3R
4, &dd (C), (D) 3R

Options :

(E)

21052932133. 1
21052932134. 2
21052932135. 3

21052932136. 4

Question Number : 85 Question Id : 2105298179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which TWO among the following propagated the Theory of Art as an Imitation?
A. Plato

B. Tolstoy

C. Croce

D. Freud

E. Aristotle

Choose the correct answer from the options given below:

1. A and E only
2. B and C only
3. D and E only
4. C and E only

Options :

21052932137. 1
21052932138. 2
21052932139. 3

21052932140. 4

Question Number : 85 Question Id : 2105298179 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafeiad 7 4 i gl fdaR®! 3 Bl & RIgid & U H 3bRuarg ol UiauleH &l U ?

(C) ld
(D) IS

(E) 3R

- feu e faeed! § ¥ 9el S 9T
1. ®ad (A) 3R ()

2. %4d (B) 3R ()

3. ®4d (D) IR (F)
4, ®ad (C) IR (B)

Options :

21052932137. 1
21052932138. 2
21052932139. 3
21052932140. 4

Question Number : 86 Question Id : 2105298180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following are puppet theatres of Karnataka and Kerala?
A. Sakhi Kundhainata

B. Gombeyatta

C. Kathputli

D. Nool Pavakuthu

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and D only

Options :

21052932141. 1
21052932142. 2
21052932143.3

21052932144. 4

Question Number : 86 Question Id : 2105298180 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fufaiad § 4 &H 4 gl d-icd AR Hd & dagda (YTe ¢ 7

(A) B HUE e

(B) T3

(C) DAYl

(D) a1 UraPY,
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1. Had (A) 3K (B)

2. ®ad (B) 3R (C)

3. ®ad (B) ¥R (D)

4, %ad (A) 3R (D)

Options :



21052932141.1
21052932142. 2
21052932143. 3

21052932144. 4

Question Number : 87 Question Id : 2105298181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which two of the following are puppet theatres of eastern India?
A. Putul Nach

B. Gombeyata

C. Ravan Chhaya

D. Pava Kathakali

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and Conly
4. Cand D only

Options :

21052932145. 1
21052932146. 2
21052932147. 3

21052932148. 4

Question Number : 87 Question Id : 2105298181 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Fafeied 59 & 9 Udl 4Rd & &l degdal [4Ue g 7

Options :

21052932145. 1
21052932146. 2
21052932147.3

21052932148. 4

Question Number : 88 Question Id : 2105298182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which TWO of the following do NCT belong to types of Thadi characters?
A. Kathi

B. Chuvanna

C. Theppu

D. Karutha

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. B and D only
4. A and Conly



Options :

21052932149. 1
21052932150. 2
21052932151. 3
21052932152. 4

Question Number : 88 Question Id : 2105298182 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frafaied | 9 o9 o yedl usl & UoRI 9 Ysitd 8l 67
(A) DTS

(8) IT

(© ¥g

(D) BEYT

Prgfifed fived § @ 98 3w IR

1. ad (A) 31K (B)
2. ®ad (B) 3R (Q)
3. $ad (B) 3R (D)
4, H3d (A) R (O)

Options:

21052932149. 1
21052932150. 2
21052932151.3

21052932152. 4

Question Number : 89 Question Id : 2105298183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following theatres developed in Japan between the 7% and the 10" centuries
due to the influence of Chinese and Korean cultures and was widely admired and imitated in
lapan?

A. Gigaku

B. Bugaku

C. Kabuki

D. Noh

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only

Options :

21052932153. 1
21052932154. 2
21052932155. 3

21052932156. 4

Question Number : 89 Question Id : 2105298183 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafeRad fuesl | 9 o &1 @1 ey I 3R Siar Teiodl & gHE H 78 3R 10df
Tcliesdl & AL SIUM H gl fod! WU ¥ U ©U 3 WIGT 3R S0 fhdl il & 2

(4) Frma

(B) gD

(C) BTEDT

(D) g

frafefad famedl & 9 98l I gHu:
1. %ad (A) 31X (B)

2. &ad (B) 3R ()

3. @ad (C) 3R (D)

4. ®ad (A) 3R (D)

Options

21052932153.1
21052932154. 2
21052932155. 3

21052932156. 4

Question Number : 90 Question Id : 2105298184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Lakshman . Virata

B. Bhisma Il. Sampati
C. Brihannala lIl. Satyavati
D. Jatayu V. Sumitra

Choose the correct answer from the opticns given below:

TLA-W,BE-N,C-,D-I
2R B~ G-IV, D=
JA-ILB-LC-1I,D-IV
4 A-1,B-IV.C-1I,D-1

Options :



21052932157.1
21052932158. 2
21052932159. 3

21052932160. 4

Question Number : 90 Question Id : 2105298184 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tt - | G - 1 T T AR P : -

el - | T -
A, TEATT . faRe
B. HItH |, T
C. ggaal 1. Tgdl
D. §Ielg . i

i feu 71u fgdedl & 9 81 3wt 9T

1. IV), (B) - (IlI), (C) - (1), (D) - (1N
1), (B) - (1), (C) - (1V), (D) - (1)
1), (B) - {1). (€) - (1), (D) - (IV)

1), (B) - (IV), (C) - (1), (D) - (1)

da

(A) -(
(A) -(
(A) -(
(A) -(

Options :

21052932157. 1
21052932158. 2
21052932159. 3

21052932160. 4

Question Number : 91 Question Id : 2105298185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il

A. Cambodia l. Nat Pwe

B. Laos Il. Lakon fai nai

C. Burma 1. Lakon Khol

D. Thailand IV. Nang daloong

Choose the correct answer from the options given below:

T.A-IV,B-I|,C-1l,D-Il
ZA-1,B-IM,C-1I,D-1l
3A-ILB-LC-IV,D-1
4 A-1LB-IV,C-|,D-1i

Options:

21052932161. 1
21052932162. 2
21052932163. 3

21052932164. 4

Question Number : 91 Question Id : 2105298185 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gl - | B Gl - 11 & 9y Gaferd i :

Tl - | =t - 1l

A. ESal |.Aed

B. TI3MY |, TP BI3 15
c.gq! 11, T Gid
D. YIiUs IV, TR &I
Jid feu e fewedf © O OEl 3R gL

1. (A) -(IV), (B) - (1), (€) - (1), (D) - (1)

2. (A) (1), (B) - (IV), (€) - (), (D) - (1)

3. (A) (1), (B) - (1), (C) - (IV), (D) - (1)

4. (A) -(I), (B) - (IV), (C) - (D), (D) - (1)
Options :

21052932161. 1




21052932162. 2
21052932163. 3

21052932164. 4

Question Number : 92 Question Id : 2105298186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List I

A. Parikhanda . Manipur

B. Silambam Il. Kerala

C. Thang-Ta I1l. Orissa

D. Kalari Payattu IV. Tamil Nadu

Choose the correct answer from the options given below:

TA-1,B-I,C-1I,D-1V
ZA-ILB-1LC-IV,D-1
3A-ILB-IV,C-1,D-1
4 A-IV,B-1LC-1,D-1I

Options :

21052932165. 1
21052932166. 2
21052932167. 3

21052932168. 4

Question Number : 92 Question Id : 2105298186 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - | B Gl - 11 & Gy AT i ; -

i - | gt - 1l

A TRETS I AR
B. R I, B3
C.i - dl 1. SffsEm
D. @il glcg I, TS
id feu 77u fasedl © 9 U8l IR 9T

1. (A) -(1), (B) - (1), (C) - (1), (D) - (V)

2. (A) -(l1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) -(l), (B) - (IV), (C) - (D), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (n1)

Options:

21052932165. 1
21052932166. 2
21052932167. 3

21052932168. 4

Question Number : 93 Question Id : 2105298187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Voice modulation in delivery of speeches l. Anubhava
B. Verbal mode of dramatic presentation Il. Kaku

C. Physical reactions to an emotional Impact II. Aviddha
D. Vigorous dramatic performance V. Bharati

Choose the correct answer from the opticns given below:

TA-IW,B-1,C-1I,C-1
ZA-1,B-ILC-IV,D-1ll
2A-I,B=W,C-], D-li
4A-LB-LC-ILD-1IV

Options :

21052932169. 1



21052932170. 2
21052932171. 3

21052932172. 4

Question Number : 93 Question Id : 2105298187 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gl - | DI Gl - 1| D 1Y AT BTy : -

Tl - | gl - 1l
A, TRTUIT UG gR1 ATedliad & 3R I. I
B. ITcd @1 dhac vt gRT TR . DD
C. Yl &1 RIS AR 11, 3ffdsy
D. 120 Bl Y= T V. HTIZAT
id feu 77u fadedl # © U8l IR gHU:

1. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

2. (A) -(1), (B) - (1), (Q) - (IV), (D) - (1)

3. (A) -(l1), (B) - (V). (Q) - (1), (D) - (H1)

4. (A) (1), (B) - (1), () - (1), (D) - (V)

Options :

21052932169. 1
21052932170. 2
21052932171.3

21052932172. 4

Question Number : 94 Question Id : 2105298188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List |

List 11

A. Bhojya Rasa-Natya Rasa

. Bhatta Nayaka

B. Utapattivada

1. Sri Shankuka

C. Anukruti-Anumitivada

Ill. Bharatamuni

D. Bhavana-vyapara

I\, Bhatta Lollata

Choose the correct answer from the options given below:

TA-ILB-IILC-1,D-1V
ZA-ILB-IV,C-Il,D-1
3A-1,B-ILC-1V,D-1l
4 A-IV,B-1,C-1L,D-1

Options:

21052932173. 1
21052932174. 2
21052932175.3
21052932176. 4

Question Number : 94 Question Id : 2105298188 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gl - | B Gl - 11 & gy Gaferd diferd : -

Tl - | =i - i

A, HISH I - eI 39 . HS S
B. 3dftdig L. 91 Zih P
C. 3P - Mg IL.HT g5
D. YT&H1 ATUR V. YT dleeie
Jd feu e fawedl 5 9 U8 Ik g

1. (A) (1), (B) - (), (€) - (. (D) - (IV)

2. (A) (), (B) - (IV), (C) - (1), (D) - (1)

3. (A) -(1), (B) - (1), (€) - (IV), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options

21052932173.1



21052932174. 2
21052932175. 3

21052932176. 4

Question Number : 95 Question Id : 2105298189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List Il

A. A dramatic moneclogue carried with akashbhasita .. Thamrga

B. Three-fold theme relating to dharma, artha and kama Il. Bhana

C. Has 'abduction of a celestial woman' as its theme I, Utsrstikanka
D. Has ‘women's lament after the havoc of war' as its theme.|IV. Samavakara

Choose the correct answer from the options given below:

TA-1LB-I,C-IV,D-1l
ZA-1LB-1V,C-1,D-1l
S3A-ILB-1L,C-ILD-1IV
4 A-IV,B-1II,C-1IL,D-I

Options :

21052932177. 1
21052932178. 2
21052932179. 3

21052932180. 4

Question Number : 95 Question Id : 2105298189 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - | B Gl - 11 & Gy AT i ; -
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B. tH, 31 iR &1y dath Bfay fawg axg 1, HTTT

C. G, T O @1 g, forgel fAvg asq & W -

D. = @I fa¥ifiie & uyiq A1kl &1 shed, sl "

f[agas e -3 E
- feu 7t fapedl 5 € 95! 3wk 9L :

1. (A) (1), (B) - (1), (C) - (IV), (D) - (I1)

2. (A) -(l), (B) - (1V), (C) - (1), (D) - (l1)

3. (A) -1y, (B) - (1), (©) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), (©) - (1), (D) - (1)

Options:

21052932177. 1

21052932178. 2

21052932179. 3

21052932180. 4
Sub-Section Number : 2
Sub-Section Id : 210529313
Question Shuffling Allowed : Yes

Question Id : 2105298190 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

Question Label : Comprehension




Read the passage and answer the questions given below:

Even during the heyday of Indian cultural influence, the local musical tradition did not die. The
reliefs, in both the ninth-century Buddhist stupa in Borobudur, Central Java, and in the thirteen
century temples of Angkor in Cambeodia depict metal percussion instruments typical of the
region today. Development over the centuries led to the present forms of orchestras and their
repertoire - the saing of Burma, the pipad of Thailand, Cambodia, and Laos, and the gamelan
of Indonesia with numerous variants.

The role of accompanying music in the overall aesthetics of the theatrical genres is of the
greatest importance. One can hardly imagine Western Opera or ballet isolated from their
musical context. Similarly, the classical forms of South-East Asian theatre have their distinct
auditive structures. As elsewhere in regions influenced by India, the dancers-actors in South-
East Asia do not always use their voices, but are rather physical representations of the mythical
figures expressing themselves with gestures and dance movements. Often the narrator,
singers, and chorus in front of the orchestra present the plot and the dialogue. Thus the
auditive structure of South-East Asian theatre developed into its specific and unmistakable
forms.

Page No: 3, Jukka O. Miettinen, Classical Dance and Theatre in South East Asia.

Sub questions

Question Number : 96 Question Id : 2105298191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which among the following is a musical archestra which accompanies in the dance and theatre
of Thailand?

1. Kutapa
2. Pipad
3. Taichi
4. Xiqu

Options:

21052932181. 1
21052932182. 2
21052932183.3

21052932184. 4



Question Number : 97 Question Id : 2105298192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During which period the Reamker, the Cambodian version of Indian Ramayana, achieved a

special position?

1. Khmer
2. Thai

3. Vietnam
4, French

Options :

21052932185. 1
21052932186. 2
21052932187. 3

21052932188. 4

Question Number : 98 Question Id : 2105298193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following instruments is NOT a part of Gamelan?

1. Bronze xylophones
2. Gong Chimes

3. Cymbals

4. Veena

Options :

21052932189. 1
21052932190. 2
21052932191.3

21052932192. 4

Question Number : 99 Question Id : 2105298194 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which of the reliefs of the following the metal percussion of South-East Asia are found?
A. Borobudur

B. Angkor

C. Dhammazedi

D. Shwedagon

Choose the correct answer from the options given below:

1. Aand B only
2. A and C only
3.Band Conly
4. A and D only

Options :

21052932193. 1
21052932194. 2
21052932195. 3

21052932196. 4

Question Number : 100 Question Id : 2105298195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: The accompanying music for the theatres in South-East Asia is not significant to
its performance.

Statement II: Western ballets have music as a compulsory element in the presentation.
In light of the above statements, choose the correct answer from the options given below:

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is correct but Statement |l is false
4, Statement | is incorrect but Statement I is true



Options :

21052932197. 1
21052932198. 2
21052932199. 3
21052932200. 4

Question Id : 2105298190 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (96 to 100)

Question Label : Comprehension
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Sub questions

Question Number : 96 Question Id : 2105298191 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 9q0
PRIES
3. I
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Options :

21052932181. 1
21052932182. 2
21052932183. 3
21052932184. 4

Question Number : 97 Question Id : 2105298192 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HRAIG IHEEY & deliads Buidl IH0 3 g &a | Ue f39E g9 ure fear 2

1. TR
2. UTg
3. fqgam
4. il

Options :

21052932185. 1
21052932186. 2
21052932187.3

21052932188. 4

Question Number : 98 Question Id : 2105298193 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932189. 1
21052932190. 2
21052932191.3

21052932192. 4

Question Number : 99 Question Id : 2105298194 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932193. 1
21052932194. 2
21052932195. 3

21052932196. 4



Question Number : 100 Question Id : 2105298195 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932197. 1
21052932198. 2
21052932199. 3

21052932200. 4

PART III Dance

SectionId: 21052999
Section Number : 3
Section type : Online
Mandatory or Optional : Optional
Number of Questions : 46
Number of Questions to be attempted : 46
Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Sub-Section Number : 1



Sub-Section Id : 210529314

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2105298196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following pairs is NOT correctly matched?

1. Karpoormanjari - Rajshekhar
2. Ratnavali - Harshvardhan

3. Mudra Rakshas - Vishakhdutt
4. Vikramorvashiya - Shoodrak

Options:

21052932201. 1
21052932202. 2
21052932203.3

21052932204. 4

Question Number : 101 Question Id : 2105298196 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T e e g gEfE 28 7

1. DUTHL] - IR
2, Tdafd - g¥adH
3. JERI&Y - f[o9EcT

Options:

21052932201.1
21052932202. 2
21052932203. 3

21052932204. 4



Question Number : 102 Question Id : 2105298197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the term coined to a heroine when she is enraged with her lover?

1. Virahot Kanthita
2. Kalahantarita

3. Vipralabdha

4. Khandita

Options :

21052932205. 1
21052932206. 2
21052932207.3

21052932208. 4

Question Number : 102 Question Id : 2105298197 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932205. 1
21052932206. 2
21052932207. 3

21052932208. 4

Question Number : 103 Question Id : 2105298198 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the name of the 'Karana' according to Natyashashtra, where ‘foot with the toes and
sole turned upwards, hand showing Tripataka with the fingers pointing downwards and the

head being sannata?

1. Lolita

2. Nagsarpita

3. Gangavatarana
4. Vartita

Options :

21052932209. 1
21052932210. 2
21052932211. 3

21052932212. 4

Question Number : 103 Question Id : 2105298198 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932209. 1
21052932210. 2
21052932211. 3

21052932212. 4

Question Number : 104 Question Id : 2105298199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

In which of the following, a Kuchipudi dancer dances on a brass plate?

1. Kalapam
2. Tarangam
3. Javali

4. Ashtapadi

Options :

21052932213. 1
21052932214. 2
21052932215. 3
21052932216. 4

Question Number : 104 Question Id : 2105298199 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. dldH
2. T3H
3. SlIgdl
4. PTG

Options :

21052932213. 1
21052932214. 2
21052932215. 3

21052932216. 4

Question Number : 105 Question Id : 2105298200 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following describes ‘Tarijham' in Odissi dance?

1. Patterns of rhythmic syllables
2. A posture

3. A special pakhawaj

4. The feet ornament

Options :

21052932217. 1
21052932218. 2
21052932219. 3

21052932220. 4

Question Number : 105 Question Id : 2105298200 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. U% (929 gEE
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Options :

21052932217.1
21052932218. 2
21052932219.3
21052932220. 4

Question Number : 106 Question Id : 2105298201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following describes the term "Nikas' in Kathak dance?

1. Coming inte the space of dance

2. Leaving the space of dance

3. Going around the space of dance.

4. Changing movements within the space of dance

Options :

21052932221. 1
21052932222. 2
21052932223.3
21052932224. 4

Question Number : 106 Question Id : 2105298201 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 90 & ®IE T HAT

2. 99 & ®F Y [Hda
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4. 90 & BH & iR a0 & el

Options :

21052932221. 1
21052932222. 2
21052932223.3

21052932224. 4

Question Number : 107 Question Id : 2105298202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which temples are the richest sources for the sculptural representation of Shiva's dance

poses?

1. Chidambaram and Brihadeshvara
2. Khajuraho and Konark

3. Dilwara and Purana Mahadeva

4. Vishnupura and Kamakhya

Options :

21052932225. 1
21052932226. 2
21052932227. 3

21052932228. 4

Question Number : 107 Question Id : 2105298202 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932225. 1
21052932226. 2
21052932227. 3

21052932228. 4

Question Number : 108 Question Id : 2105298203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following describes ‘Bhariman’ or 'Khoj ' of the Sattriya Dance?

1. Hand gestures

2. Waist movements

3. Application of feet
4. Eyeball movements

Options :

21052932229. 1
21052932230. 2
21052932231. 3
21052932232. 4

Question Number : 108 Question Id : 2105298203 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. HHT G
4, 53 YR

Options :

21052932229. 1
21052932230. 2
21052932231.3

21052932232. 4

Question Number : 109 Question Id : 2105298204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following has ‘pada’ and ‘tana’ as its varieties in Bharata Natyam?

1. Alarippu
2. Jatisvaram
3. Sabdam
4, Varmam

Options :

21052932233. 1
21052932234. 2
21052932235. 3

21052932236. 4

Question Number : 109 Question Id : 2105298204 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4.9uig
Options :
21052932233. 1
21052932234. 2
21052932235. 3

21052932236. 4

Question Number : 110 Question Id : 2105298205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who is the composer of "Lalitalavangalata parishilana komala malayasamire”?

1. Vidyapati

2. Vanamalidas

3. Narayanatirtha
4. Jaydeva

Options :

21052932237. 1
21052932238. 2
21052932239. 3

21052932240. 4

Question Number : 110 Question Id : 2105298205 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932237. 1
21052932238. 2
21052932239. 3
21052932240. 4

Question Number : 111 Question Id : 2105298206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which dance drama of Rabindranath Tagore is a fresh interpretation of the Mahabharata
legend with a redefinition of male-female relationship?

1. Chandalika
2. Chitrangada
3. Shyama

4. Natir Puja

Options :

21052932241. 1
21052932242. 2
21052932243. 3
21052932244. 4

Question Number : 111 Question Id : 2105298206 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, IR gelr
Options :
21052932241.1
21052932242, 2
21052932243, 3

21052932244. 4

Question Number : 112 Question Id : 2105298207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is a production that gives a message related to the preservation of
wildlife in Manipur?

1. Kabui Kei Oiba
2. Nong dol leima
3. Sari Makhol

4. Keibul Lamjao

Options :

21052932245. 1
21052932246. 2
21052932247.3
21052932248. 4

Question Number : 112 Question Id : 2105298207 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932245, 1
21052932246. 2
21052932247. 3

21052932248. 4

Question Number : 113 Question Id : 2105298208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which one of the following productions, the theme of death is handled in an imaginative
manner by Narendra Sharma?

1. Antim Adhyay
2. Flying Cranes
3. Conference

4. Wolf Boy

Options :

21052932249. 1
21052932250. 2
21052932251. 3

21052932252. 4

Question Number : 113 Question Id : 2105298208 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Hfdg &g

2. D EH%“W
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Options :

21052932249. 1
21052932250. 2
21052932251.3
21052932252. 4

Question Number : 114 Question Id : 2105298209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following productions was NOT directed by Mrinalini Sarabhai?

1. Manusya

2. Curse of Durvasa
3. Mira

4 Charai beti
Options :
21052932253. 1
21052932254, 2
21052932255. 3

21052932256. 4

Question Number : 114 Question Id : 2105298209 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. DY B gl
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Options :

21052932253. 1
21052932254. 2
21052932255. 3
21052932256. 4

Question Number : 115 Question Id : 2105298210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was the choreographer of Ramayana, in which the performers acted like puppets?

1. Udayshankar

2. Ramgopal

3. V.P. Dhananjayan
4. Shanti Bardhan

Options :

21052932257. 1
21052932258. 2
21052932259. 3

21052932260. 4

Question Number : 115 Question Id : 2105298210 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932257. 1
21052932258. 2
21052932259. 3
21052932260. 4

Question Number : 116 Question Id : 2105298211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following describes ‘Chempata’ of Kathakali?

1. Rhythmic cycle of Eight Matras
2. Make-up of Jatayu

3. The headgear of Krishna

4. The curtain

Options :

21052932261. 1
21052932262. 2
21052932263. 3

21052932264. 4

Question Number : 116 Question Id : 2105298211 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. Ul

Options :

21052932261. 1
21052932262. 2
21052932263. 3

21052932264. 4

Question Number : 117 Question Id : 2105298212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following dancers has been awarded Padmashri in 20197

1. Rajendra Gangani
2. Shashadhar Acharya
3. Rama Vaidyanathan
4. Jaykishan Maharaj

Options :

21052932265. 1
21052932266. 2
21052932267. 3

21052932268. 4

Question Number : 117 Question Id : 2105298212 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Telg T
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3. 31 agATYA
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Options :

21052932265. 1
21052932266. 2
21052932267.3
21052932268. 4

Question Number : 118 Question Id : 2105298213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which production of Chandralekha is based Dashabhuja?

Frana
Sri

. Mahakal
. Sharira

e

da W g

Options :

21052932269. 1
21052932270. 2
21052932271.3

21052932272. 4

Question Number : 118 Question Id : 2105298213 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4, TR

Options :

21052932269. 1
21052932270. 2
21052932271. 3
21052932272. 4

Question Number : 119 Question Id : 2105298214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following describes the 'Cholkettu’ of Mohiniattam dance?

1. An 'abhinaya’ item

2. A special Mridangam

3. Types of cymbals

4. The opening piece of the recital

Options :

21052932273. 1
21052932274. 2
21052932275. 3
21052932276. 4

Question Number : 119 Question Id : 2105298214 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. T2y 5e7H
3. HoIRI & PR
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Options :

21052932273. 1
21052932274. 2
21052932275. 3

21052932276. 4

Question Number : 120 Question Id : 2105298215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following tried to apply scientific principles to movement analysis?

1. Harald Kreutzberg
2. Jack Anderson
3. Mary Wigman
4. Rudolf von Laban

Options :

21052932277. 1
21052932278. 2
21052932279. 3

21052932280. 4

Question Number : 120 Question Id : 2105298215 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932277. 1
21052932278. 2
21052932279. 3

21052932280. 4

Question Number : 121 Question Id : 2105298216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which organization is framing curriculum and training teachers for imparting quality dance
education within the formal school curriculum?

1. CCRT
2. CBSE
3. NCERT
4 ICSE

Options :

21052932281. 1
21052932282. 2
21052932283. 3
21052932284. 4

Question Number : 121 Question Id : 2105298216 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932281. 1
21052932282. 2
21052932283. 3

21052932284. 4

Question Number : 122 Question Id : 2105298217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which American dancer wrote her autobiography - An Unfinished Life?

1. Ruth St. Denis
2. Mary Wigman
3. Isadora Duncan
4, Louis Fuller

Options :

21052932285. 1
21052932286. 2
21052932287. 3

21052932288. 4

Question Number : 122 Question Id : 2105298217 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932285. 1
21052932286. 2
21052932287. 3
21052932288. 4

Question Number : 123 Question Id : 2105298218 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among these Russian Ballet personalities was NOT a dancer?

1. Karsavina
2. Nijinsky
3. Pavilova
4. Diaghilev

Options :

21052932289. 1
21052932290. 2
21052932291. 3

21052932292. 4

Question Number : 123 Question Id : 2105298218 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=41 §d ¥ 9s Fuftfed safdadl 9 o 9de T8l U2

1. BTG
2. st
3. Igaiar
4, fearfudg

Options :

21052932289. 1
21052932290. 2
21052932291. 3
21052932292. 4

Question Number : 124 Question Id : 2105298219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled

a5 Reason R;

Assertion A: According to Nandikesvara, "where the hand goes, the eyes follow: where the
eye goes, the bhava follows and where the mind goes, there arises the rasa”,

Reason R: According to Kapila Vatsyayan, the hands are of supreme importance in abhinaya",

In light of the above statements, choose the most appropriate answer from the options given

below:

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is Not the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052932293. 1
21052932294. 2
21052932295. 3

21052932296. 4

Question Number : 124 Question Id : 2105298219 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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21052932293. 1



21052932294. 2
21052932295. 3

21052932296. 4

Question Number : 125 Question Id : 2105298220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled
a5 Reason R;

Assertion A: Indigenous dances were created only to please the deities in the temple.

Reason R: Temples were erected essentially to lodge the Gods and Goddesses and hence
these became the very focus of the life of the community.

In light of the above statements, choose the correct answer from the options given below:

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4. A s false but R is true

Options :

21052932297. 1
21052932298. 2
21052932299. 3

21052932300. 4

Question Number : 125 Question Id : 2105298220 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052932297. 1
21052932298. 2
21052932299. 3
21052932300. 4

Question Number : 126 Question Id : 2105298221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: In Indian dance, the abhinaya is invariably known as the dancer's ability to
interpret words set to music and such interpretation of a word through movement
distinguishes the classical tradition from folk forms.

Statement II: The degree of interpretive stylization through hastas and facial expressions gives
each dance style its distinctive character.

In light of the above statements, choose the most appropriate answer from the options

given below:

1. Both Statment | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect

3. Statement | is correct but Statement |l is incorrect
4, Statement | is incorrect but Statement Il is correct

Options :
21052932301. 1



21052932302. 2
21052932303. 3

21052932304. 4

Question Number : 126 Question Id : 2105298221 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932301. 1
21052932302. 2
21052932303. 3
21052932304. 4

Question Number : 127 Question Id : 2105298222 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Indicate the correct sequence of Asamyuta hastas according to Abhinayadarpana:
A. Kartarimukha

B. Ardhapataka

C. Tripataka

D. Pataka

Choose the correct answer from the options given below:

1A BCD
2.D,C B A
3.B,CD A
4 C D, B A

Options :

21052932305. 1
21052932306. 2
21052932307. 3

21052932308. 4

Question Number : 127 Question Id : 2105298222 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.ABCD
2D CE A
3B, CD A
4. C D B A

Options :

21052932305. 1



21052932306. 2
21052932307. 3

21052932308. 4

Question Number : 128 Question Id : 2105298223 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the correct sequence of ‘Shirobheda’ according to ‘Abhinayadarpana’;
A. Udwahita

B. Adhomukha

C. 5ama

D. Alolita

Choose the correct answer from the options given below:

1.A B CD
2B D C A
3.CABD
4D A B C

Options :

21052932309. 1
21052932310. 2
21052932311.3

21052932312. 4

Question Number : 128 Question Id : 2105298223 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1A BCD
2B D C A
3.C,ABD
4D A B C

Options :

21052932309. 1
21052932310. 2
21052932311. 3

21052932312. 4

Question Number : 129 Question Id : 2105298224 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the correct sequence of Dasaprana of Tala

A. Kriya

B. Anga

C. Kala

D. Marga

Choose the correct answer from the options given below:

1.0D,B, C A
2CDAEB
3.A,BCD
4ADC B

Options :

21052932313.1



21052932314. 2
21052932315. 3

21052932316. 4

Question Number : 129 Question Id : 2105298224 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
dIc o &F Y101 BT He! A a5y :

(C) BT
(D) ART
1.D, B, C, A
2.C,D, A B

3.ABCD
4 A D CEB

Options :

21052932313. 1
21052932314. 2
21052932315. 3

21052932316. 4

Question Number : 130 Question Id : 2105298225 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Indicate the correct chronclogical sequence of the following personalities according to their

period of works.

A. V.S.Krishna Rao

B. Kelucharan Mahapatra

C. Navtej Singh Johar

D. Bindadin Maharaj

Choose the correct answer from the options given below:

1.A B CD
2B, CDA
3.CDAB
4D ABC

Options :

21052932317. 1
21052932318. 2
21052932319. 3

21052932320. 4

Question Number : 130 Question Id : 2105298225 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932317. 1
21052932318. 2
21052932319.3
21052932320. 4

Question Number : 131 Question Id : 2105298226 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Indicate the correct sequence of Nayika bhed according to Natyashashtra.
A. Vasaksajja

B. Virahotkanthita

C. Swadhinabhartrika

D. Kalhantarita

Choose the correct answer from the options given below:

1.D,C, B, A
2B CD A
3.CD A B
4 A B CD

Options:

21052932321. 1
21052932322. 2
21052932323.3

21052932324. 4

Question Number : 131 Question Id : 2105298226 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(C) WY
(D) TRl

1.D,C, B, A
2B CD A
3.CD A B
4 A B CD

Options :

21052932321. 1
21052932322. 2
21052932323.3
21052932324. 4

Question Number : 132 Question Id : 2105298227 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following are authored by Nandikesara?
A. Bharatarnava

B. Abhinayadarpanam

C. Bhavaprakashan

D. Abhinavabharat

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052932325. 1



21052932326. 2
21052932327. 3

21052932328. 4

Question Number : 132 Question Id : 2105298227 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
faffeadafT e o R frag 2
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(D) SHTHAG HIZd!
Fafeiad ldeal ¥ ¥ gaiiie 3ugad 3w 9T

1. ad (A) 3 (B)
2. &ad (B) 3R (Q)
3. ®ad (C) 3N (D)
4. %ad (A) 3R (D)

Options :

21052932325. 1
21052932326. 2
21052932327. 3

21052932328. 4

Question Number : 133 Question Id : 2105298228 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following statements are NOT correct?
A. Kalasams are used in Kuchipudi.

B. Ardhamandali is the basic posture of Bharatanatyam.
C. Figure of eight is the basic torso of Kathak.

D. Chauka is the posture in Odissi.

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. Cand D only
4. B and D only

Options :

21052932329. 1
21052932330. 2
21052932331.3

21052932332. 4

Question Number : 133 Question Id : 2105298228 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052932329. 1
21052932330. 2
21052932331. 3

21052932332. 4

Question Number : 134 Question Id : 2105298229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following instruments are used in Manipuri Dance?
A. Pakhawaj

B. Pung

C. Piano

D. Pena

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and Conly
4. B and D only

Options :

21052932333. 1
21052932334. 2
21052932335. 3

21052932336. 4

Question Number : 134 Question Id : 2105298229 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2. ®ad (A) 3R (Q)
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4, &gd (B) 31X (D)

Options :

21052932333. 1
21052932334. 2
21052932335. 3

21052932336. 4

Question Number : 135 Question Id : 2105298230 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following talas are of eight matras?

A. Tanchep

B. Jhampa

C. Kaharawa

D. Dhruva

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and Conly

Options :



21052932337.1
21052932338. 2
21052932339. 3

21052932340. 4

Question Number : 135 Question Id : 2105298230 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(D) 4
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1. Had (A) 3K (B)
2. ®ad (B) 3R (C)
3. ®4ad (C) 3R (D)
4, Had (A) 3R (Q)

Options :

21052932337. 1
21052932338. 2
21052932339. 3
21052932340. 4

Question Number : 136 Question Id : 2105298231 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are used in Kathak dance?

A. Jagoi

B. Palta

C. That

D. Chali

Choose the correct answer from the options given below:

1. A and B only
2. Cand D only
3. B and C only
4. B and D only

Options :

21052932341. 1
21052932342. 2
21052932343.3

21052932344. 4

Question Number : 136 Question Id : 2105298231 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. %ad (A) 3R (B)

2. ®ad (C) AR (D)

3. ®4ad (B) 3R (Q)

4, ad (B) 3R (D)

Options :



21052932341.1
21052932342. 2
21052932343. 3

21052932344. 4

Question Number : 137 Question Id : 2105298232 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who among the following were the masters working at Almora with Udayshankar?
A. Guru Haobam Atomba

B. Guru Maisnam Amubi

C. Guru Kandappa

D. Guru Namboodiripad

Choose the correct answer from the options given below:

1. A, B and Conly
2. A, Cand D only
3. A B and D only
4. B, Cand D only

Options :

21052932345 1
21052932346. 2
21052932347.3

21052932348. 4

Question Number : 137 Question Id : 2105298232 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(D) T FfeiurG
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1. ®ad (A), (B) 3R (Q)
2. 9ad (A), (O) 3R (D)
3. 9ad (D), (B) 3R (A)
4. %9d (B), (C) ¥R (D)
Options :

21052932345, 1
21052932346. 2
21052932347. 3

21052932348. 4

Question Number : 138 Question Id : 2105298233 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

With whom amongst the following artists did Astad Deboo collaborate for productions?
A. Hariprasad Chaurasia

B. Gundecha Brothers

C. Kumudini Lakhia

D. Dadi Padamiji

Choose the correct answer from the options given below:

1. B and D only
2. A and B only
3. Band C only
4. A and D only

Options :



21052932349. 1
21052932350. 2
21052932351. 3

21052932352. 4

Question Number : 138 Question Id : 2105298233 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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EAFAREE
fFafcied faeedl & § 98l W 9HU

1. ®ad (B) 3R (D)
2. ®ad (A) 3R (B)
3. ®4ad (B) 3R (Q)
4, %ad (A) 3R (D)

Options :

21052932349. 1
21052932350. 2
21052932351. 3
21052932352. 4

Question Number : 139 Question Id : 2105298234 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following dance festivals are organized in Mumbai?
A. Surya Festival

B. Kalagodha Festival

C. Elephanta Festival

D. Nishagandhi Festival

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. B and C only
4. C and D only

Options :

21052932353. 1
21052932354. 2
21052932355. 3

21052932356. 4

Question Number : 139 Question Id : 2105298234 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :



21052932353. 1
21052932354. 2
21052932355. 3

21052932356. 4

Question Number : 140 Question Id : 2105298235 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Universities have a 'Department of Dance"?
A. Banaras Hindu University

B. Rabindra Bharati University

C. University of Mumbai

D. University of Delhi

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3. Cand D only
4. A and D only

Options :

21052932357. 1
21052932358. 2
21052932359. 3
21052932360. 4

Question Number : 140 Question Id : 2105298235 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



frafaied 4 9 o gyl § g faurr g 2
(A) SIRY feg fayfaenaa

(B) d== HRdl faufaemeg

(C) Has faufaeag

(D) fewl fayfaenag

Fafeied famal § ¥ gaiite 3udad 3w 9T

Options :

21052932357. 1
21052932358. 2
21052932359. 3

21052932360. 4

Question Number : 141 Question Id : 2105298236 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following characters are NOT present in the Romantic ballet, La Sylphide?
A. Odile

B. James

C. Odette

D. Effie

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3.Band D only
4. Cand D only

Options :



21052932361. 1
21052932362. 2
21052932363. 3

21052932364. 4

Question Number : 141 Question Id : 2105298236 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FofEa ¥ 3 o1 3 U w0 39, 7 RerRs § Ad 2 2

(D) THH
FafeRed fadedl § ¥ alfts Iuged 3w 9y :

1. a4 (A) 3R (C)
2. ®ad (A) AR (B)
3. ®ad (B) ¥R (D)
4, ad (C) 3R (D)

Options :

21052932361. 1
21052932362. 2
21052932363. 3

21052932364. 4

Question Number : 142 Question Id : 2105298237 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il

(Festivals) (State)

A. Khajuraho Dance Festival . Orissa

B. Konarak Dance Festival Il. Gujrat

C. Udayshankar Dance Festival Ill. Madhya Pradesh
D. Modhera Dance Festival IV. West Bengal

Choose the correct answer from the options given below:

TA-ILB-L,C-IV,D-I
2ZA-,B-ILC-IILD- IV
SA-ILB-IV,C-1,D-1I
4 A-IV,B-IILC-1I,D -1

Options :

21052932365. 1
21052932366. 2
21052932367. 3
21052932368. 4

Question Number : 142 Question Id : 2105298237 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Gl - | I TGl - 1| H A i : -

gl - | Tl - 1l
Id ql

A. WeRTel 7 38 I HrSrEm
B. ®IUNd T Jobd IRIEEG!

C. Ja0%E 94 35 L HEHC
D. HitRT Jd 3«4 V. GiEH 9T
1 feu e faseal @ Ugl IR gHU:

1. (A) (), (B) - (1), () - (IV), (D) - (1)

2. (A) (1), (B) - (1), (C) - (1), (D) - (V)

3. (A) (1), (B) - (IV), (©) - (1), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options :



21052932365. 1
21052932366. 2
21052932367. 3

21052932368. 4

Question Number : 143 Question Id : 2105298238 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List 11

List 1 List 11
(Choreographers) (Production)

A. Akram Khan . A Million Sitas
B. Shobhana Jeyasingh  |Il. Amrit

C. Anita Ratnam 1. Kaash

D. Uttara Asha Coorlawala|lV. Configuration

Choose the correct answer from the options given below:

T.A-1,B-Il, C-IL,D-IV
ZA-IILB-V,C-1,D-1
3A-ILB-LC-1V,D-Ill
4 A-IVB-LC-1I,D-1

Options :

21052932369. 1
21052932370. 2
21052932371.3

21052932372. 4

Question Number : 143 Question Id : 2105298238 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



gt - | B Gl - 11 ¥ gAfcid Difeig : -

ol - | i - 1l

T g e

A, H@XH TGl 1. € ffera das
B. TTYT wlfiig .37

C. HHAT T@H 111, BT
D3RI AT HATErd] V. BATHIREH
i fou e fadseal @ Ugl IR gHU:

1. (A) -1}, (B) - (1}, (C) - (10}, (D) - (IV)

2. (A) -(l), (B) - (IV), (C) - (1), (D) - (I1)

3. (A) -(11), (B} - (1}, (C) - (IV), (D) - (111}

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options :

21052932369. 1
21052932370. 2
21052932371.3

21052932372. 4

Question Number : 144 Question Id : 2105298239 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List 11

A. Raja Sarfoiji ll I. A dance item using nritta and nritya
B. Nattuvanar ll. A head ornament

C. Varnam lll. Tanjore brothers

D. Rakodi IV. Conductor of performance

Choose the correct answer from the options given below:

TA-1,B-I,LC-1I,D-1V
ZA-ILB-IV,C-1,D-1
3A-ILB-1L,C-1V,D-1
4 A-IV,B-IILC-1,D -1

Options :
21052932373. 1



21052932374. 2
21052932375. 3

21052932376. 4

Question Number : 144 Question Id : 2105298239 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gt - 1 I gl - 11 ¥ g forg sifere : -

ol - | gl - 1l

A ST IRGET T |1 T 3R I &1 UGR STl 5 Wi
B. 9¢ga 1. R @71 rym

C. 399 IGEIREE|
DIBIa! V. W T Harad
id feu 77u fasedl # © U8l IR 9T

1. (A) (1), (B) - (11). (C) - (1), (D) - (IV)

2. (A) -(l), (B) - (IV), (C) - (D), (D) - (IN)

3. (A) -(I), (B) - (). () - (IV), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - ()
Options :

21052932373. 1
21052932374. 2
21052932375. 3

21052932376. 4

Question Number : 145 Question Id : 2105298240 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List II

A, Kathak I. Ramdani

B. Odissi Il. Gollakalapam
C. Sattriya Il. Moksha

D. Koochipudi V. Primalu

Choose the correct answer from the options given below:

TA-N,B-I1,C-1I¥,D-I
ZA-1,B-1LC-1Il,D-IV
3A-IV,B-ILC-1,D-1
4 A-IV,B-IILC-1I,D -1

Options:

21052932377. 1
21052932378. 2
21052932379. 3

21052932380. 4

Question Number : 145 Question Id : 2105298240 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt - | B gl - 11 ¥ gafed Sifeg : -

Tl - | T -
A DUD . G
B. Hifadl 1|, TTCaTardH
C. TRg 111, e
D.®AgS! . formreg
< feu e fasedl § © Ugl IR 9T
1. (A) -(l), (B) - (1), (C) - (IV), (D) - (1)
2. (A) (1), (B) - (1), (C) - (), (D) - (V)
3. (A) -(IV), (B) - (I}, (C) - (1), (D) - (1)
4. (A) -(IV), (B) - (111), (€) - (1), (D) - (1)
Options

21052932377. 1



21052932378. 2
21052932379. 3

21052932380. 4

Sub-Section Number : 2
Sub-Section Id : 210529315
Question Shuffling Allowed : Yes

Question Id : 2105298241 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the given passage and answer the questions that follow

It is interesting to note that symbolism, which has always been a strong feature of Indian art
and religion, is also to be found underlying the attitudes and attributes of Shiva as represented
in his various dance poses. For instance, in the Ananda Tandava, or Dance of Bliss, the hand
holding the damaru or rattle drum stands for creation; the hand shown as a flat palm with
extended fingers gives assurance of protection; the hand holding the fire signifies destruction
and purification; the foot planted on the subdued dwarf symbolises the snapping of the fetters
that bind the soul in ignorance and illusion; the upraised foot implies a release from the
bondage, which means emancipation of the soul from the cycle of re-birth; and the fourth
hand pointing te the raised foot tells of the path of salvation or deliverance.

Nor does the significance end here. For one who can perceive deeper the Ananda Tandava
attitude of Shiva, it is fraught with yet more recondite symbolism, as, for instance, is seen in
explaining the damaru. It suggests vibrations - vital vibrations which constitute the first step in
the evolution of the universe as also the birth of sound - primal sound on which all music and
language of the Universe are based. Some images show Shiva with flying locks of hair studded
with stars - the set pattern of the rhythm of the cosmos. While two eyes of Shiva represent the
two eyes of the world, namely the sun and the moon, his third eye, in the centre of the
forehead, stands for latent fire; together Shiva's three eyes are also taken to indicate the past,
present, and future integrated into the infinite span of Time. The serpents adorning various
parts of his body suggest the diverse forces he has tamed and harnessed. The wearing of a
man's earring on one side and a woman's on the other implies that he embodies in his form
both male and female energies. The Ganga spouting from his streaming tresses gives
affirmation of his death- lessness. And Shiva's dance on the ugly, writhing dwarf signifies the
complete defeat of evil in the world.

Traditions of Indian Classical Dance, Mohan Khokar, Pg 17-18.

Sub questions

Question Number : 146 Question Id : 2105298242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does Shiva's third eye indicate?

1. Latent fire

2. Past, present and future
3. Infinite span of time

4. Forces he has tamed



Options :

21052932381. 1
21052932382. 2
21052932383.3
21052932384. 4

Question Number : 147 Question Id : 2105298243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What does the Ganga spouting from his tresses signify?

1. Defeat of evil

2. Male and female energies

3. Ever-enduring cycle of creation
4. Death-lessness

Options :

21052932385. 1
21052932386. 2
21052932387.3
21052932388. 4

Question Number : 148 Question Id : 2105298244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following represents the evolution of the universe?

1. Playing the rattle drum
2. The subdued dwarf

3. Flying locks of hair

4. Emancipation of soul

Options :
21052932389. 1

21052932390. 2



21052932391. 3

21052932392. 4

Question Number : 149 Question Id : 2105298245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What is the name of Shiva's Dance of Bliss?

1. Sandhya
2. Kalika
3. Ananda
4. Gauri

Options:

21052932393. 1
21052932394. 2
21052932395. 3

21052932396. 4

Question Number : 150 Question Id : 2105298246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List Il

A. Damaru . Destruction

B. Flat palm Il. Creation

C. Fire l1l. Path of salvation

D. Hand pointing to the raised foot |IV. Assurance of protection

Choose the correct answer from the opticns given below:

TLA-ILB-IV,C-1,D-1l
2R B-ILC- IV, D=
3A-1L,B-1LC-1IL,D-V
4. A-IV,B-1I,C-NILD-1

Options :



21052932397. 1
21052932398. 2
21052932399. 3

21052932400. 4

Question Id : 2105298241 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension

Frafafta T 1 ufey o o feg g et & I v :

% 0% [oded 914 & b 98 Ydidierdal ol HRdg dell AR 4 B U Y 999l ¢ a8 2
1 grefl SR famiyaredl 7 +ff siaRia & o 3! fafirm g geral # 2R B 61 ey
& fou 3frig died ¥ 98 21y g @ - S5 Udel 891 € 96 391 @ HidHid &4l &, 98
g1y Forget Jnferat et 88 & ofR 70t qUeh o <8 © 9% X6 @1 1R &1 8, 7% g o
RE J 31 B TSI 51 § I8 I 3R SR 37 Yobed Bl 8, T8 R o P [BU NI &
R IR 1§31 € 98 Wellds & 3 4T o G ol BT ol 1l bl S SR Y9 1 Y Wad 8,
381 g3 | 49 T g &1 Ui & orgaet Ffeard & T & 9% O o/l &1 gftd R 9y
B Sl 96 Y IR &1 3R Hdvd B T & 95 Hjad UY U1 HIE B 3R Yobd Bl g1 AR Faor
T8 W 91 1 81| 98 oiad ol 121 & MG 4159 &1 Tex0s § off 9l & 98 U % 39
HR W T TKTeTddl € WY SaIeRUl & [T SHE i oI H & of 9adl ¢l 98 @ adl
B! 3R Yo Bl © d STERTS A4 o TS B (GO B UYH T & AR FH & Ied o1
@ § - Sl U 31 G o SRS & U Wi SR O yrws &1 R 31 %9 R R a
U Fedl g% ael @l o § for T RiaR o9 §UE 1 Sl Ofieh © el I o o i 4 1|
vt 19 1 &1 i 3y 1 & il &1 eliop § o @1 G4 3R d5A1 R HIK & didiaid [
dd o viw & guw 3% 1. 31 91 te T < & 3 Rt & - a1 & o R
% UiHd 47, 999 IR Yiaw) 3 9t < e % TR & o ot w e gu E @ 9 fafaw
YR B el &1 Udid & fore 119 = UTerd 8711 & 3R oF W el Sl 81 U & H 7o
1 421 Te 3R T & TR @1 987 Ue @1 37 & 370 ©0 B 790 iR T &H1 &1 St Hied
&1 30! Tl 1§ (Ha T8 T A1 ARl B 3R Yobd $dll & 3R FEY, 50d 9+ WRE &
T B B 3 € T3y H 5208 31 g e |

Sub questions

Question Number : 146 Question Id : 2105298242 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
forg @ et sife frgeT Ied Hdl & 7

1. Gue A @I

2. Hd, 9dHH Td HigH BT Gobd

3. I &I Hddl Bl

4. 3 Ffeqql @1 o RE S g

Options :

21052932381. 1
21052932382. 2
21052932383. 3

21052932384. 4

Question Number : 147 Question Id : 2105298243 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
f2rq @1 o7el © Mo 1T fhad! Ui & 2

1. UL B ER BT

2. GFY 3R Tl HoilHl DI
3. 9dd 9o+ ard W41 95 B
4, 3T DI

Options :

21052932385. 1
21052932386. 2
21052932387. 3

21052932388. 4

Question Number : 148 Question Id : 2105298244 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fgdde e oN I WdE & ?

B BT g1

Options :

da

21052932389. 1
21052932390. 2
21052932391. 3

21052932392. 4

Question Number : 149 Question Id : 2105298245 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

RosgddJaHaH e ?

1. 941

2. lfcidl
3. MG
4T

Options :

21052932393. 1
21052932394. 2
21052932395. 3

21052932396. 4

Question Number : 150 Question Id : 2105298246 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



i - | gl - 1l

A BHE . famm

B. A< gyl I1. g1

C. 3@ 1. i oy

D3¢ BU R BT 3R Yovd BRI gAY I\, T&IT BT YA
1. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

2. (A) -1y, (B) - (), (C) - (IV), (D) - (1)

3. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

4. (A) -(IV), (B) - (1), (C) - (n), (D) - (1)

Options :

21052932397. 1
21052932398. 2
21052932399. 3

21052932400. 4

PART IV Drama and Theatre

210529100

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

4

Online
Optional
46

46

100

Yes

Yes

Yes

1

210529316

Yes




Question Number : 151 Question Id : 2105298247 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which among the following is considered as an outstanding Political Play in Sanskrit Dramatic
Literature?

1. Abhishekanataka
2. Uttar-rama-charita
3. Mudra Rakshas

4. Tripurdaha

Options :

21052932401. 1
21052932402. 2
21052932403. 3

21052932404. 4

Question Number : 151 Question Id : 2105298247 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

il 3§ 59 Oed Tie Oitw &1 T3 S@F UeHifae e I il & ?
1. HYYP D

2. gt MH dikd

3. Hal &g

4 [d4<gle

Options :

21052932401. 1
21052932402. 2
21052932403. 3

21052932404. 4

Question Number : 152 Question Id : 2105298248 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In 'The Doctor in Spite of Himself ', a farce by Moliere, the female protagonist has been
soundly beaten by her drunken husband and she contemplates revenge for the beating she
has received. Who is she?

1. Martine
2. Masha
3. Ruth
4, 7enia

Options :

21052932405. 1
21052932406. 2
21052932407. 3

21052932408. 4

Question Number : 152 Question Id : 2105298248 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

HIferR gRT fer 70 g & 3iae 3 Wrse il ferrdey @ Afec 481 06 o GuaT el
Tfc 9gd 94 a¥e 4 Uled & 3R 9% 39 fiers @1 96a o1 @1 giadl o, e A1 dH 6 7

1.7
2. HEN
3. %Y

4, S

Options:

21052932405. 1
21052932406. 2
21052932407. 3

21052932408. 4

Question Number : 153 Question Id : 2105298249 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

In Elizabethan drama, a line-for-line exchange of dialogue is called:

1. Stichomythia
2. Soliloquy

3. Senecan

4, Soubrette

Options :

210529324009. 1
21052932410. 2
21052932411. 3

21052932412. 4

Question Number : 153 Question Id : 2105298249 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Ufcroney g & e | Yale o Ufdkd & Ufekd Sla UeH Bl A8 F1 6 ?

1. Repifafim
3. AP
4, Tigle

Options:

210529324009. 1
21052932410. 2
21052932411.3
21052932412. 4

Question Number : 154 Question Id : 2105298250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which stock character of Commedia dell'arte always carries a wooden sword or slapstick, and

wears a black mask with a snub nose?

1. Capitano
2. Arlecchino
3. Brighella
4. Pantalone

Options :

21052932413. 1
21052932414. 2
21052932415. 3
21052932416. 4

Question Number : 154 Question Id : 2105298250 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

PRI S O B - W1 U0 ¢ UH & off g4 ade! Bl 9qaR J1 WURed das Iadl & 3R
U] 1 arell Bl TPTE Ugdl & ?

1. BieH!
PRCINIEE|
3. fgean

Options :

21052932413. 1
21052932414. 2
21052932415. 3

21052932416. 4

Question Number : 155 Question Id : 2105298251 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following is the only satisfactory and correct method of breathing for voice
y y
production in drama?

1. Abdominal

2. Clavicular

3. Intercostal-Diaphragmatic
4. Repose

Options :

21052932417. 1
21052932418. 2
21052932419. 3
21052932420. 4

Question Number : 155 Question Id : 2105298251 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
s H a1 i+ R & [ tennE YdueHs ud 98 el FE H a8

1. TESIHAA
2. Fifdper
4, RO

Options :

21052932417.1
21052932418. 2
21052932419. 3
21052932420. 4

Question Number : 156 Question Id : 2105298252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was '"CHOREGUS' in classical Greek theatre?

1. A Principal Actor
2. The Dramatist
3. The tragic chorus

4. A wealthy citizen
Options :
21052932421. 1
21052932422. 2
21052932423.3

21052932424. 4

Question Number : 156 Question Id : 2105298252 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

R G JHg o DRI B U1 ?

1. Uh U A
2. Al hl

3. ﬂ gq thgl -1

Options :

21052932421. 1
21052932422. 2
21052932423.3

21052932424. 4

Question Number : 157 Question Id : 2105298253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The group of Commedia Stock characters Zanni or Zany were:

Lazz

e

. Masters

. Servants

da

Lovers
Options :
21052932425. 1
21052932426. 2
21052932427.3

21052932428. 4

Question Number : 157 Question Id : 2105298253 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FRT e A TR TN F TR I E 7

2. Hifcide

3. iR

4, U

Options :

21052932425. 1

21052932426. 2

21052932427. 3

21052932428. 4

Question Number : 158 Question Id : 2105298254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Pick the odd one out in context of the 'Theatre of Dionysus’

1. Theatron
2. Platea

3. Orchestra
4. Thymele

Options :

21052932429. 1
21052932430. 2
21052932431.3

21052932432. 4

Question Number : 158 Question Id : 2105298254 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fueR 3% SEHIRg © dey & faun fadey @f g

1. e
3. Hlpw
4, UTRHA

Options :

21052932429. 1
21052932430. 2
21052932431.3
21052932432. 4

Question Number : 159 Question Id : 2105298255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The drawing that illustrates the plan angle and colour of the various sources that are
illuminating the image of light is generally referred to as:

1. Lighting sectional
2. Lighting key
3. Lighting template
4. Lighting grid

Options :

21052932433. 1
21052932434. 2
21052932435. 3
21052932436. 4

Question Number : 159 Question Id : 2105298255 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932433. 1
21052932434. 2
21052932435. 3

21052932436. 4

Question Number : 160 Question Id : 2105298256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A sense of equipoise achieved through dynamic tension created by the juxtaposition of
dissimilar design elements is referred to as

1. Symmetrical balance
2. Balanced line

3. Functional Model

4. Asymmetrical balance

Options :

21052932437. 1
21052932438. 2
21052932439. 3
21052932440. 4

Question Number : 160 Question Id : 2105298256 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932437. 1
21052932438. 2
21052932439. 3

21052932440. 4

Question Number : 161 Question Id : 2105298257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the length and breadth of the Nepathyagruha in Vikrusth Madhyam Rangmarch in

Hastas, according to Natyashastra?

1.32x%16
2. 16x32
3.08x32
4 32x08

Options :

21052932441. 1
21052932442. 2
21052932443. 3
21052932444. 4

Question Number : 161 Question Id : 2105298257 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. 32x16
2.16x32
3. 08x32
4, 32x08

Options :

21052932441.1
21052932442, 2
21052932443.3

21052932444. 4

Question Number : 162 Question Id : 2105298258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In accordance with Sanskrit theatre architecture, woodwork of a building like frames of
windows, doors, columns and carving decorative motifs is called:

1. Avalita

2. Citrajalagavaksa
3. Darukarma

4. Akampa

Options :

21052932445. 1
21052932446. 2
21052932447. 3
21052932448. 4

Question Number : 162 Question Id : 2105298258 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932445, 1
21052932446. 2
21052932447. 3

21052932448. 4

Question Number : 163 Question Id : 2105298259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who wrote the play "Adding Machine'?

1. Elmer Rice

2. William Congreve
3. Samuel Draper

4. Bernard Dukore

Options :

21052932449. 1
21052932450. 2
21052932451. 3

21052932452. 4

Question Number : 163 Question Id : 2105298259 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932449. 1
21052932450. 2
21052932451.3

21052932452. 4

Question Number : 164 Question Id : 2105298260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who said, "There is no theatre without an audience"?

1. Bertolt Brecht
2. Erwin Piscator
3. Peter Brook
4. Emile Zola

Options :

21052932453. 1
21052932454, 2
21052932455. 3

21052932456. 4

Question Number : 164 Question Id : 2105298260 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932453. 1
21052932454. 2
21052932455. 3
21052932456. 4

Question Number : 165 Question Id : 2105298261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who from the following is associated with ‘Well-made plays'?

1. Henrik Ibsen

2. August Strindberg
3. Eugéne Scribe

4. Bernard Shaw

Options :

21052932457. 1
21052932458. 2
21052932459. 3

21052932460. 4

Question Number : 165 Question Id : 2105298261 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

Bowo

21052932457. 1
21052932458. 2
21052932459. 3
21052932460. 4

Question Number : 166 Question Id : 2105298262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT an element of Expressionism in theatre?

1. The plot is jointed, not in episode structure

2. Characters will be nameless and in simplified figures
3. The acting style will be frenzied and puppet like

4. The dialogues are uttered in monologue

Options :

21052932461. 1
21052932462. 2
21052932463. 3
21052932464. 4

Question Number : 166 Question Id : 2105298262 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932461. 1
21052932462. 2
21052932463. 3

21052932464. 4

Question Number : 167 Question Id : 2105298263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who among the following is a well known mime artist?

1. R.K. Dhingra

2. Moinul Hague

3. Swadesh Deepak

4. Surya Mchan Kulshreshtha

Options :

21052932465. 1
21052932466. 2
21052932467. 3

21052932468. 4

Question Number : 167 Question Id : 2105298263 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932465. 1
21052932466. 2
21052932467. 3
21052932468. 4

Question Number : 168 Question Id : 2105298264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who said, "The Director must be a Brain"?

1. Rebecca Schneider
2. Gabrielle Cody

3. Herbert Blau

4. Francis Hodge

Options :

21052932469. 1
21052932470. 2
21052932471.3

21052932472. 4

Question Number : 168 Question Id : 2105298264 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932469. 1
21052932470. 2
21052932471. 3
21052932472. 4

Question Number : 169 Question Id : 2105298265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following pairs is wrongly matched?

1. Augusto Boal - Rainbow of desire
2. Eugenio Barba - Odin Theatre

3. Joan Littlewood - Invisible Theatre
4. Julian Beck - Living Theatre

Options :

21052932473. 1
21052932474. 2
21052932475. 3

21052932476. 4

Question Number : 169 Question Id : 2105298265 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932473. 1
21052932474. 2
21052932475. 3

21052932476. 4

Question Number : 170 Question Id : 2105298266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who directed the play 'Oh, What a Lovely War!'?

1. Joan Littlewood
2. Meyerhold

3. Julian Beck

4. Bertolt Brecht

Options :

21052932477. 1
21052932478. 2
21052932479. 3

21052932480. 4

Question Number : 170 Question Id : 2105298266 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932477. 1
21052932478. 2
21052932479.3
21052932480. 4

Question Number : 171 Question Id : 2105298267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who said, "Use your voice to make a hole in the wall, to overturn a chair... to make a picture
fall"?

1. Jerzy Grotowski
2. Peter Stein

3. Jim Sharman

4. Jean Vilar

Options :

21052932481. 1
21052932482. 2
21052932483. 3
21052932484. 4

Question Number : 171 Question Id : 2105298267 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932481. 1
21052932482. 2
21052932483.3
21052932484. 4

Question Number : 172 Question Id : 2105298268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which one of the following pairs is wrongly matched?

1. Satish Alekar - Begum Barve
2. Mahesh Elkunchwar - Garbo
3. G.P., Deshpande - Andhar Yatra
4. Vijay Tendulkar - Vasana Kand

Options :

21052932485. 1
21052932486. 2
21052932487. 3

21052932488. 4

Question Number : 172 Question Id : 2105298268 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932485. 1
21052932486. 2
21052932487.3

21052932488. 4

Question Number : 173 Question Id : 2105298269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Who was the author of the book titled The Shifting Poini?

1. Henry Brooke
2. Peter Brook
3. Mel Brooks
4, Otto Brahm

Options :

21052932489. 1
21052932490. 2
21052932491. 3

21052932492. 4

Question Number : 173 Question Id : 2105298269 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
" & IR wrge  Wiue e o] o o 41 ?

1. e 5B
2R gP
3. O g
4, el 9189

Options :

21052932489. 1
21052932490. 2
21052932491.3
21052932492. 4

Question Number : 174 Question Id : 2105298270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements: one is labelled as Assertion A and the other is labelled

35 Reason R

Assertion A: Stanislavsky advocates that the actor, by using 'if’ in the first instance ('If | was
the character, | would..) can eventually work 'without dividing his creative problems into "I
and "If I".

Reason R: Thus, the value of ‘i’ is that it does not allow you to ‘achieve a complete merging of

yourself and the character of your part’

In light of the above statements, choose the most appropriate answer from the options given

below.

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct and R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options:

21052932493. 1
21052932494. 2
21052932495. 3
21052932496. 4

Question Number : 174 Question Id : 2105298270 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932493. 1
21052932494, 2
21052932495. 3
21052932496. 4

Question Number : 175 Question Id : 2105298271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled
35 Reason R

Assertion A: During the Renaissance period, the theatre finally moved indoors, with the entire
structure enclosed in a building. The ‘cavea’, or auditorium, was designed not as an exact
semicircle but as an ellipse.

Reason R: This minor change was incorporated with an intent to improve the sightlines in the
theatre.

In light of the above statements, choose the correct answer from the options given below.

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. Ais true but R is false

4. Ais false but R is true

Options:

21052932497. 1
21052932498. 2
21052932499. 3

21052932500. 4

Question Number : 175 Question Id : 2105298271 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052932497. 1
21052932498. 2
21052932499. 3

21052932500. 4

Question Number : 176 Question Id : 2105298272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements: one is labelled as Assertion A and the other is labelled

as Reason R

Assertion A: Before the end of the century, both the advocates of Naturalism and of
Symbolism were claiming of Ibsen as master, and taking up hardened positions in opposition
to each other.

Reason R: The Naturalists regarded the Symbolists as romantic and decadent and the
Symbolists scorned the Naturalists as political and materialistic.

In light of the above statements, choose the most appropriate answer from the options given
below.

1. Both A and R are correct and R is the cerrect explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :



21052932501. 1
21052932502. 2
21052932503. 3

21052932504. 4

Question Number : 176 Question Id : 2105298272 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a8 By U U E : U @l AfiHUH (A) AR G I 0 (R) F1 11 &

ST (4) : TS B T ¥ I TPTaaTG AR WG aH! & Ty 568 B % AH 36 8
IR AR [l B3R fafufr 31w 33 4

d® (R) : UpTadI) Adidancdl & E9H AR gd-=ie 9Hd 4 3R Udiddrel Yafaared! @l
TeHITaE AR Yifdsarc! & T H TR #3d Y|

Iuddd B & el 4 Hifed el o 4 aiitie SugH I A

1. (A) 3R (R) T TET € 3R (R), (4) BT WG oG
2. (A) 3R (R) GHT 981 € W (R), (A) 1 He! & 6] 3
)
)

3. (A) Wel & U (R) W1 e
4, (A) T8 TET E R (R) TS B
Options :

21052932501. 1
21052932502. 2
21052932503. 3
21052932504. 4

Question Number : 177 Question Id : 2105298273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following characters of Shakespeare's play 'Othello’ in the order of their
appearance in the script:

A. Brabantio

B. Cassio

C. Othello

D. lago

E. Roderigo

Choose the correct answer from the options given below:

1.C,D,EBA
2D.E B A C
3.D,CBEA
48D EAC

Options :

21052932505. 1
21052932506. 2
21052932507. 3

21052932508. 4

Question Number : 177 Question Id : 2105298273 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932505. 1
21052932506. 2
21052932507. 3

21052932508. 4

Question Number : 178 Question Id : 2105298274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following characters of Dharmavir Bharati's play ‘Andhayug’ in the order of their
appearance in script.

A. Dhritarashtra

B. Vidur

C. Gandhari

D. Prahari

Choose the correct answer from the options given below:

1.0, B AC
2B D CA
3ABCD
408 CA



Options :

210529325009. 1
21052932510. 2
21052932511. 3
21052932512. 4

Question Number : 178 Question Id : 2105298274 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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2B D,C A
3.ABCD
4D, B, C A
Options:
210529325009. 1
21052932510. 2
21052932511.3

21052932512. 4

Question Number : 179 Question Id : 2105298275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following Theatres according to their chronological order of development
A. Medieval

B. Roman

C. Elizabethan

D. Modern

F. Greek

Choose the correct answer from the options given below:

.BECAD
2ZEBCAD
3AEBCD
4EBACD

Options :

21052932513. 1
21052932514. 2
21052932515. 3

21052932516. 4

Question Number : 179 Question Id : 2105298275 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932513. 1
21052932514. 2
21052932515. 3

21052932516. 4

Question Number : 180 Question Id : 2105298276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following theatre personalities according to their country of origin, from East to
West.

A. Edward Gordon Craig

B. Richard Schechner

C. Ryszard Cieslak

D. Mikhail Shchepkin

Choose the correct answer from the options given below:

1.C,D, B A
2D, CAB
3.ADCB
48 CDA

Options :

21052932517. 1
21052932518. 2
21052932519. 3
21052932520. 4

Question Number : 180 Question Id : 2105298276 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932517. 1
21052932518. 2
21052932519. 3

21052932520. 4

Question Number : 181 Question Id : 2105298277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Arrange the following in correct chronological order in the context of the Shape of Greek
Tragedy.

A. Discovery

B. Exposition

C. Catastrophe

D. Reversal

E. Catharsis

Choose the correct answer from the options given below:

1.A,D, B EC
2B CADE
3.ABDEC
48 DA CE

Options :

21052932521. 1
21052932522. 2
21052932523. 3

21052932524. 4

Question Number : 181 Question Id : 2105298277 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. UdhdH

o g
c. fdg
p. faudy
E. T
A feu v fawedl F € el 3w g9 :

1A D, B, EC
2B CADE
3.AB,DEC
4B, D A CE

Options :

21052932521. 1
21052932522. 2
21052932523. 3

21052932524. 4

Question Number : 182 Question Id : 2105298278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which among the following are THREE plays written by Mahakavi Bhasa, the Sanskrit
Playwright?

A. Ashcharya-Chudamani

B. Daridra-Charudatta

C. Madhyam Vyayoga

D. Kirata - Arjuniya Vyayoga

E. Avimaraka

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, D and E only
4. B, Cand E only

Options :

21052932525. 1
21052932526. 2
21052932527. 3

21052932528. 4

Question Number : 182 Question Id : 2105298278 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



9 ¥ TRpd Aeh@R Helbid H1E gRI [oRd 7T o9 H1ed DY 6 ?

A, 312 - T

B. GRS - ARGt

C. e H S

D. fo3rd - araf-1a ST
E. SGHAR®

1. HadA A, B3R C
2. HaaB, C3RD
3.®aAC D ARE
4. HaaAB, C 3ARE

Options :

21052932525. 1
21052932526. 2
21052932527.3

21052932528. 4

Question Number : 183 Question Id : 2105298279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which are the two most outstanding Prahasana of Sanskrit Dramatic Literature?
A. Pancharatra

B. Bhagvad-Ajjukiyam

C. Kundamala

D. Prabuddha Rauhineya

E. Mattavilasa

Choose the correct answer from the options given below:

1. C and D only
2. B and E only
3. D and E only
4. A and Conly



Options :

21052932529. 1
21052932530. 2
21052932531.3

21052932532. 4

Question Number : 183 Question Id : 2105298279 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e ATed Wiied & ol 9diad Yedd DH-U 8 7

A. ToRH

B. Hi[dg H=ldIgH

C. Braard

D. g g0
1.®dd C 3R D
2. ®dc B AR E

3. Had D 3R E
4. FaAA R C

Options:

21052932529. 1
21052932530. 2
21052932531.3

21052932532. 4

Question Number : 184 Question Id : 2105298280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which three of the following are Peter Brook's Books or Writings on the art of acting &
theatre?

A. There are No Secrets: Thoughts on Acting & Theatre

B. The Open Door

C. The Messingkauf Dialogues

D. Threads of Time

E. On the Art of The Theatre

Choose the correct answer from the options given below:

1. A B and D only
2.B, Cand E only
3.A DandEonly
4. B, Cand D only

Options :

21052932533. 1
21052932534. 2
21052932535. 3

21052932536. 4

Question Number : 184 Question Id : 2105298280 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HadA, B3R D
2. ®adaB, C ARE
3. HAAA DR E
4. Had B, C AR D

Options :

21052932533. 1
21052932534. 2
21052932535. 3

21052932536. 4

Question Number : 185 Question Id : 2105298281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



According to Natyashastra, a Staff(Danda), a measure of length is equal to:
A. 96 Angulas

B. 02 Hastas

C. 48 Angulas

D. 04 Hastas

E. 05 Hastas

Choose the correct answer from the options given below:

1. A and D only
2. B and C only
3. Cand D only
4. A and E only

Options :

21052932537. 1
21052932538. 2
21052932539. 3

21052932540. 4

Question Number : 185 Question Id : 2105298281 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
AR o HIUR Tialy & U HU-63 [ SRR § 7

A. 96 3Td

B.02 g&d

C. 48 3T
D. 04 B

E.03 g%

1.PAAA AR D
2. HaAB AR C
3. H3d C AR D
4, FaaA ANE



Options :

21052932537. 1
21052932538. 2
21052932539. 3
21052932540. 4

Question Number : 186 Question Id : 2105298282 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Three-dimensional makeup involves the use of various materials to after the shape of the
actor's face, neck or hands. Which three of the following materials and processes can be used
to achieve these effects?

A. Nose Putty

B. Stippling

C. Gelatin

D. Greasepaint

E. Prosthetics

Choose the correct answer from the options given below:

1. B, Cand D only
2A DandE
3.A Cand E only

4. B, Cand D only
Options:
21052932541. 1
21052932542. 2
21052932543. 3

21052932544. 4

Question Number : 186 Question Id : 2105298282 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No



Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A. ATgEL

B, fRefeim

c. foraifeq

D 3ferde

E. Wrelfeay

T4 feT U fadeul # © ¥ R gL :

1.®aa 8, C AR D
2. $adA DARE
3. $aaA CAHRE
4. Had 8, C AR D

Options :

21052932541.1
21052932542. 2
21052932543. 3

21052932544. 4

Question Number : 187 Question Id : 2105298283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The Brechtian actor would 'show’ rather than ‘imitate’ and Brecht advocated a number of
rehearsal devices. Identify them out of the following.

A. The actor would speak in the third person

B. The actor would apeak in the past-tense

C. The actor would speak the stage direction.

D. The actor will never speak

E. The actor would never speak directly to the audience
Choose the correct answer from the options given below:

1. B, Dand E only
2. A B and D only
3.A DandEonly
4. A Band Conly

Options :

21052932545. 1
21052932546. 2
21052932547.3

21052932548. 4

Question Number : 187 Question Id : 2105298283 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D dRE
2. A BIRD
3.AD ARE
4.A B IRC

Options :

21052932545. 1
21052932546. 2
21052932547.3

21052932548. 4

Question Number : 188 Question Id : 2105298284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which three of the following pairs of Theatre Companies and Theatre Personalities are
correctly matched?

A. Nat Mandap - Parvez Akhtar

B. EKJUT - Usha Ganguli

C. Lokdharmi - Chandradasan

D. Rangadhara - Bhaskar Shewalkar

E. The Company - Kirti Jain

Choose the correct answer from the options given below:

1. B, Cand E only
2. A, Cand D only
3.B, D and E only
4.C,Dand E only

Options :

21052932549. 1
21052932550. 2
21052932551. 3
21052932552. 4

Question Number : 188 Question Id : 2105298284 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. TPY[C - ST Il
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1.®aa 8, C AR E
2. BaAA CHRD
3. %aaB, D ARE
4.HaaC, D ARE

Options :

21052932549. 1
21052932550. 2
21052932551. 3

21052932552. 4

Question Number : 189 Question Id : 2105298285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which two of the following are street plays?

A. Mahanirvaan

B. Aurat

C. Sparsha

D. Halla Bol

Choose the correct answer from the options given below:

1. A and B only
2. B and D only
3. A and C only
4. A and D only

Options :

21052932553. 1
21052932554. 2
21052932555. 3

21052932556. 4

Question Number : 189 Question Id : 2105298285 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Fufafed A4 oH Y &l Jabe Aled & ?

A. FEIHEI

B. 3R

C. T

D. Eew &l

Fufeiad fdedl ¥ ¥ Taiids 3uged 3w 9HU:

1. Fad A AT B
2. Had B 3R D
3. Had A R C
4. FIAAARD

Options :



21052932553. 1
21052932554. 2
21052932555. 3
21052932556. 4

Question Number : 190 Question Id : 2105298286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which two of the following plays are written by Nissim Ezekiel?
A. Don't call it suicide

B. Party

C. Marriage-Poem

D. Juloos

Choose the correct answer from the options given below:

1. A and C only
2. A and B only
3. A and D only
4. Cand D only

Options :

21052932557. 1
21052932558. 2
21052932559. 3

21052932560. 4

Question Number : 190 Question Id : 2105298286 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HaA A R C
2. HaAAA HRB
3. @A A AR D
4. %ad C AR D

Options :

21052932557. 1
21052932558. 2
21052932559. 3

21052932560. 4

Question Number : 191 Question Id : 2105298287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which two of the following plays were directed by Jabbar Patel?
A. Padgham

B. Ghasiram Kotwal

C. Gochi

D. NGO

Choose the correct answer from the options given below:

1. A and C only
2. B and D only
3. A and B only
4. Cand D only

Options :



21052932561. 1
21052932562. 2
21052932563. 3

21052932564. 4

Question Number : 191 Question Id : 2105298287 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Fad A AT C
2. Had B3R D
3. Had A 3R B
4, %9 C 3R D

Options :

21052932561. 1
21052932562. 2
21052932563. 3

21052932564. 4

Question Number : 192 Question Id : 2105298288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List 11

A. Realism I. The House of Bernarda Alba
B. Symbolism ll. The Bald Prima Donna

C. Absurd lll. The Hairy Ape

D. Expressionism |IV. The Lower Depths

Choose the correct answer from the options given below:

TA-IV,B-1,C-Il,D-1
ZA-ILB-IV,C-1,D-1l
3A-IV,B-1LC-1I,D-1
4 A-1LB-ILC-IV,D-I

Options:

21052932565. 1
21052932566. 2
21052932567. 3
21052932568. 4

Question Number : 192 Question Id : 2105298288 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt -1 AR Gt -1 &) gafed $ifde :

Tl -| Tl -1l

A, QUTETG . G 8139 H1G S-Is! fedl
B. UdidhdIg 1.5 91c WIgHI S
C. 3T Il § 8931 T

D. sf¥eafdaarg V. G TSR S0
Jd feu e fawedl © § 9l S gAY

1. (A) -(IV), (B) - (lI), (©) - (1), (D) - (1)

2. (A) (1), (B) - (IV), (C) - (1), (D) - (1)

3. (A) -(IV), (B) - (1), (€) - (), (D} - (1)

4. (A) -(I), (B) - (), (C) - (IV), (D) - (1)
Options :

21052932565. 1




21052932566. 2
21052932567. 3

21052932568. 4

Question Number : 193 Question Id : 2105298289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List Il

List | List 11

A. Kulashekar Verman |l. Padmaprabhrutakbhana

B. Ishwardatta Il. Prabodhchandrodaya
C. Shudraka lll. Subhadra Dhananjay
0. Krushnamishra V. Dhurta Vita Samvada

Choose the correct answer from the options given below:

TA-1,B-I,C-1I,D-1V
ZA-ILB-1LC-IV,D-1
3A-ILB-IV,C-1,D-1
4 A-IV,B-1LC-1,D-1I

Options :

21052932569. 1
21052932570. 2
21052932571. 3

21052932572. 4

Question Number : 193 Question Id : 2105298289 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) -(1), (B) - (1), (C) - (1), (D) - (IV)

2. (A) -(l1), (B) - (), (C) - (IV), (D) - (1)

3. (A) -(l), (B) - (IV), (C) - (), (D) - (1)

4. (A) -(IV), (B) - (1), () - (), (D) - (1)

Options:

21052932569. 1
21052932570. 2
21052932571. 3

21052932572. 4

Question Number : 194 Question Id : 2105298290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List | with List Il

List | List |

A. Alexandrine |I. The repetition of initial sounds in two or more words in a line

B. Alliteration |l A parenthetical observation addressed to an absent person or to an idea

C. Antithesis  |lll. A line of iambic hexameter of French origin

D. Apostrophe |IV. Expression by contrast

Choose the correct answer from the options given below:

TLA-ILB-1,C-IV,D-1l
ZA-ILB-LC-,D-IV
JA-LB-IV,C-I,D-1
4 A-IV,BE-LC-1,D-11

Options :
21052932573. 1



21052932574. 2
21052932575. 3

21052932576. 4

Question Number : 194 Question Id : 2105298290 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) (1), (B) - (), (C) - (IV), (D) - (1)

2. (A) -(I0), (B) - (1), (C) - (1). (D) - (IV)

3. (A) -(I), (B) - (IV), (C) - (1), (D) - (1)

4. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)

Options :

21052932573. 1
21052932574. 2
21052932575. 3

21052932576. 4

Question Number : 195 Question Id : 2105298291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List 1 with List 1l

List | List Il
A. Bathos l. Prearranged spectators to applaud
B. Buskin Il. The conclusion of a Tragedy

C. Catastrophe |[lll. The high sandal worn by actors

D. Clague V. Unintended anti-climax

Choose the correct answer from the options given below:

TA-I,B-IV,C-1,D-Il
ZA-ILB-1LC-IV,D-1
3A-IV,B-LC-II,D-1
4 A-1,B-ILC-1I,D-1V

Options:

21052932577. 1
21052932578. 2
21052932579. 3

21052932580. 4

Question Number : 195 Question Id : 2105298291 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tl -| T -1l

A FUTT |. T1eH SeiH & 1T Ud oua i &id

B.aRMA  |I1. Topdl AHE! T 3id

C. el |1l HHHAIS §RT Ug-1 o dicll %l ol & Jad
D.a® V. UG U - g Hag

-4 feu 7 faspedl § ¥ 981 IR 9T ;
1. (A) (1), (B) - (IV), (C) - (), (D) - (1)
2. (A) (1), (B) - (1), (C) - (IV), (D) - (1)

3. (A) -(IV), (B) - (1), (C) - (1), (D) - (1)
4. (A) -(1), (B) - (1), (C) - (), (D) - (IV)
Options :

21052932577. 1

21052932578. 2



21052932579. 3
21052932580. 4

Sub-Section Number : 2
Sub-Section Id : 210529317
Question Shuffling Allowed : Yes

Question Id : 2105298292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (196 to 200)

Question Label : Comprehension



Read the given paragraph and answer the questions that follow:
Modern Puppetry

In the context of ancient and rich puppet tradition in India, the situation in modem puppetry is
most depressing. In Delhi, there is practically not a single active puppet group. The first phase
of the evolution of modern puppetry in the early 50s was part of the cultural and artistic
resurgence of the post-independence era. A few groups sprang up in big cities like Delhi,
Calcutta, and Bombay.

Along with the individual puppeteers and puppet groups, some institutions involved in the
promation of the arts also encouraged puppetry. Most of the work was done in Kathputli, the
string puppets of Rajasthan, which have new themes and involved traditional puppeteers.
Finding new opportunity of work, some fifty families of puppeteers from Rajasthan had
migrated to Delhi and settled on the outskirts of the city. They are still there and demanding
rehabilitation.

In Delhi, Bharatiya Natya Sangh (Indian Centre of International Theatre, UNESCO) took
initiative under the inspiration of the late Kamala Devi Chattopadhyaya, who remained a great
promoter of traditional arts and crafts all her life. A few plays were done with new themes in
Rajasthani string puppets (Kathputli) involving traditional puppeteers and under the guidance
of Inder Razdan, a scholar of traditional theatre crafts. With financial support to the Natya
Sangh from the government, Razdan also made a large collection of puppets, masks,
headgears, costume and other items of theatre crafts which are displayed in a crafts museum
in New Delhi. Bharatiya Kala Kendra, another cultural institution devoted to the training in
music and dance, took interest in puppetry and some plays were produced under its auspices
in Kathputli style.

During this period most serious work was done by the late Devilal Samar in Kathputli at
Udaipur with his institution called Lok Kala Mandal. He maintained a troupe and participated
in several international puppet festivals. He organized two national puppet festivals in the
sixties. His institution maintains a museum displaying puppets, masks, musical instruments,
costume and other items of theatre crafts. Influenced by European modern puppet traditions,
he introduced new themes and experimented in making puppets in new designs.

Suresh Awasthi, Performance Tradition In India, Page No: 50

Sub questions

Question Number : 196 Question Id : 2105298293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is Bharatiya Natya Sangh?

1. Indian International Center

2. Indian Centre of International Theatre Institute
3. Indian Institute of Folklore Studies

4, International Theatre Institute

Options :

21052932581. 1
21052932582. 2
21052932583. 3
21052932584. 4

Question Number : 197 Question Id : 2105298294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

When was the first phase of the evolution of modern puppetry?

1. Early 40's
2. Early 60's
3. Early 50's
4 Early 70's

Options :

21052932585. 1
21052932586. 2
21052932587. 3

21052932588. 4

Question Number : 198 Question Id : 2105298295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Where is Lok Kala Mandal situated?

1. Jaipur
2. Raipur
3. Udaipur
4. Jabalpur

Options :

21052932589. 1
21052932590. 2
21052932591. 3
21052932592. 4

Question Number : 199 Question Id : 2105298296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who is Inder Razdan?

. Performer of traditional theatre crafts.

vl

. Scholar of traditional theatre crafts.
. Teacher of traditional theatre crafts.

L

. Promotor of traditional theatre.
Options :

21052932593. 1

21052932594. 2

21052932595. 3

21052932596. 4

Question Number : 200 Question Id : 2105298297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



String Puppets of Rajasthan are called:

1. Bommalattam
2. Kathputli

3. Tholu bommalu
4. Putul naach

Options :

21052932597. 1
21052932598. 2
21052932599. 3

21052932600. 4

Question Id : 2105298292 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (196 to 200)

Question Label : Comprehension
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Sub questions

Question Number : 196 Question Id : 2105298293 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

21052932581. 1
21052932582. 2
21052932583. 3

21052932584. 4

Question Number : 197 Question Id : 2105298294 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
INYFP HEYd Dol P (AP BT HYH X0 D 311 ?

1.40 b GNP P Idig
2. 60 B GXd P [dis
3. 50 ® GX® @I [dis
4.70 &GP B Ydis

Options :

21052932585. 1
21052932586. 2
21052932587. 3

21052932588. 4

Question Number : 198 Question Id : 2105298295 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Al &l Hsd ®el [Ud 8 ?

2. TR
3. SR
4.9

Options :

21052932589. 1
21052932590. 2
21052932591. 3

21052932592. 4

Question Number : 199 Question Id : 2105298296 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No
Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
TR IGGH DHE ?

1. URUR® {HY Sal ydiadl g
2. URUR® egdal & 981 ¢

3. URUR® Acdddl & HEYS ¢
4. JRUNS AU & Yasd o |

Options :

21052932593. 1
21052932594. 2
21052932595. 3

21052932596. 4

Question Number : 200 Question Id : 2105298297 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Single Line Question Option : No

Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options:

21052932597. 1
21052932598. 2
21052932599. 3
21052932600. 4



